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D45>G5= ?D>7D4<<O GG55=>= 4<EF<??<=O �1.�.12.01 
�5><=D>D<4F<>==O5 E<EF5<O 4?O ?>47>F>6>< 54>4?46D>6 ?> =4?D46?5=<N 

20.03.02 �D<D>4>>5GEFD>=EF6> < 6>4>?>?L7>64=<5, =4?D46?5==>EFL 
->E?5DF<74 < G?D46?5=<5 75<5?L=O<< D5EGDE4<< 

&5?L >E6>5=<O 4<EF<??<=O: 44FL EFG45=F4< 7=4=<O E F5>D5F<G5E><<< 
>E=>64<<, ?D<=F<?4<< DG=>F<>=<D>64=<O < ?D<<5=5=<O 75><=D>D<4F<>==OE 
E<EF5<, >6?445=<5 EFG45=F>6 >E=>6=O<< ?>=OF<O<< >4DF>7D4D<<, 75><=D>D<4-
F<><, ?>?GG5=<5 =46O>>6 D45>FO (66>44, =4>>??5=<O, D544>F<D>64=<O, >F>5D4-
65=<O < 4=4?<74 75>?D>EFD4=EF65==>= <=D>D<4F<<) 6 E>6D5<5==>< ?D>7D4<<-
=>< >55E?5G5=<<. 

�5EF> 4<EF<??<=O 6 GG55=>< ??4=5: 4<EF<??<=4 6>?NG5=4 6 64D<4F<6-
=GN G4EFL GG55=>7> ??4=4 ?> =4?D46?5=<N ?>47>F>6>< 20.03.02 �D<D>4>>5G-
EFD>=EF6> < 6>4>?>?L7>64=<5, =4?D46?5==>EFL: ->E?5DF<74 < G?D46?5=<5 75<5?L-
=O<< D5EGDE4<<. 

&D55>64=<O > D57G?LF4F4< >E6>5=<O 4<EF<??<=O: 6 D57G?LF4F5 >E6>5-
=<O 4<EF<??<=O D>D<<DGNFEO E?54GNM<5 >><?5F5=F<<: '�-1.1, '�-1.2, ��>E-1.2, 
��>E-2.2, ��>E-5.2, ��>E-7.2 

�D4F>>5 E>45D64=<5 4<EF<??<=O: �E>55==>EFLN 4<EF<??<=O �5><=-
D>D<4F<>==O5 E<EF5<O O6?O5FEO D>D<<D>64=<5 7=4=<= < G<5=<= ?> ?D>6545-
=<N 4=4?<74 >5N5>F4 ?D>5>F<D>64=<O E ?><>MLN ��%, <=F5=E<6=>5 D>D<<D>64-
=<5 =46O>>6 D45>FO E ��% =4 >E=>65 6O?>?=5=<O ?45>D4F>D=OE D45>F 4?O ?>-
E?54GNM57> <E?>?L7>64=<O ?>?GG5==OE 7=4=<= < =46O>>6 6 6O?GE>=>= >64?<-
D<>4F<>==>= D45>F5, 4 F4>65 6 5G4GM5= ?D>D5EE<>=4?L=>= 45OF5?L=>EF< <47<-
EFD4. 

�5M4O FDG4>5<>>EFL 4<EF<??<=O: 108 G4E4 /3 74G.54. 

�D><56GF>G=O= >>=FD>?L: 74G5F 
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1.&��, �%�����/ ��%&�����/ 

&5?LN 4<EF<??<=O «�5><=D>D<4F<>==O5 E<EF5<O» O6?O5FEO >7=4>><?5-
=<5 E F5>D5F<G5E><<< >E=>64<<, ?D<=F<?4<< DG=>F<>=<D>64=<O < ?D<<5=5=<O 
75><=D>D<4F<>==OE E<EF5<, >6?445=<5 EFG45=F>6 >E=>6=O<< ?>=OF<O<< >4DF>-
7D4D<<, 75><=D>D<4F<><, ?>?GG5=<5 =46O>>6 D45>FO (66>44, =4>>??5=<O, D544>-
F<D>64=<O, >F>5D465=<O < 4=4?<74 75>?D>EFD4=EF65==>= <=D>D<4F<<) 6 ?D>-
7D4<<=>< >55E?5G5=<< QGIS 3, (SAGA GIS 8) 4 F4>65 >E>7=4=<5 ?>F5=F<4?4 
?D<<5=5=<O ��% 4?O D5L5=<< ?D4>F<G5E><E 7444G 6 D4<>4E ?D><76>4EF65==>-
F5E=>?>7<G5E>>=, ?D>5>F=>-<7OE>4F5?LE>>= < =4GG=>-<EE?54>64F5?LE>>= ?D>-
D5EE<>=4?L=>= 45OF5?L=>EF<. 

2.��%&� ��%&�����/ � ''����� �����: 

�<EF<??<=4 «�5><=D>D<4F<>==O5 E<EF5<O» 6>?NG5=4 6 >5O74F5?L=O= ?5-
D5G5=L $��% �� < >F=>E<FEO > 64D<4F<>==>= G4EF< F<>?4 4<EF<??<= 6G74 
(�1.�.12.01). 

$54?<74F<O FD55>64=<= $��% �� 6 4<EF<??<=5 «�5><=D>D<4F<>==O5 E<-
EF5<O», ���� �� < 'G55=>7> ??4=4 ?> =4?D46?5=<N ?>47>F>6>< 20.03.02 �D<-
D>4>>5GEFD>=EF6> < 6>4>?>?L7>64=<5 ?> ?D>7D4<<5 $��% ��, ?>76>?<F D5L4FL 
?D>D5EE<>=4?L=O5 7444G<, <<5FL ?D>D5EE<>=4?L=GN < <<D>6>77D5=G5E>GN 
=4?D46?5==>EFL; >E64FO64FL F5>D5F<G5E><5, ?>7=464F5?L=O5 < ?D4>F<G5E><5 
>><?>=5=FO 45OF5?L=>EF<, ?>47>F46?<645<>7> <47<EFD4; ?>47>F46?<64FL 5G4G-
M57> <47<EFD4 > E4<>>5GG5=<N < E4<>D476<F<N. 

�D54L5EF6GNM<<< >GDE4<<, =4 >>F>DOE =5?>ED54EF65==> 547<DG5FEO 4<E-
F<??<=4 «�5><=D>D<4F<>==O5 E<EF5<O» O6?ONFEO <=65=5D=4O 75>457<O, <=-
D>D<4F<>==O5 F5E=>?>7<<. 

�<EF<??<=4 «�5><=D>D<4F<>==O5 E<EF5<O» O6?O5FEO >E=>6>?>?474NM5= 
4?O <7GG5=<O E?54GNM<E 4<EF<??<=: 4<EF4=F<>==>5 7>=4<D>64=<5, <>=<F>D<=7 
75<5?L < ?D<D>4=OE D5EGDE>6, G?D46?5=<5 75<5?L=O<< GG4EF>4<<, ?D>5>F<D>64-
=<5 <5?<>D4F<6=OE 75<5?L. 

�E>55==>EFLN 4<EF<??<=O «�5><=D>D<4F<>==O5 E<EF5<O» O6?O5FEO D>D-
<<D>64=<5 7=4=<= < G<5=<= ?> ?D>6545=<N 4=4?<74 >5N5>F4 ?D>5>F<D>64=<O E 
?><>MLN ��%, <=F5=E<6=>5 D>D<<D>64=<5 =46O>>6 D45>FO E ��% =4 >E=>65 6O-
?>?=5=<O ?45>D4F>D=OE D45>F 4?O ?>E?54GNM57> <E?>?L7>64=<O ?>?GG5==OE 
7=4=<= < =46O>>6 6 6O?GE>=>= >64?<D<>4F<>==>= D45>F5, 4 F4>65 6 5G4GM5= 
?D>D5EE<>=4?L=>= 45OF5?L=>EF< <47<EFD4. 

$45>G4O ?D>7D4<<4 4<EF<??<=O «�5><=D>D<4F<>==O5 E<EF5<O» 4?O <=64-
?<4>6 < ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO D47D454FO645FEO <=4<-
6<4G4?L=> E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 
6>7<>6=>EF5= < E>EF>O=<O 74>D>6LO F4><E >5GG4NM<EEO. 

&D55>64=<O > D57G?LF4F4< >E6>5=<O 4<EF<??<=O: 6 D57G?LF4F5 >E6>5=<O 
4<EF<??<=O D>D<<DGNFEO E?54GNM<5 >><?5F5=F<<: '�-1.1, '�-1.2, ��>E-1.2, 
��>E-2.2, ��>E-5.2, ��>E-7.2 
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�D4F>>5 E>45D64=<5 4<EF<??<=O: >E=>6=>= 7444G5= 4<EF<??<=O «�5>-
<=D>D<4F<>==O5 E<EF5<O» O6?O5FEO ?>47>F>6>4 6OE>>>>64?<D<F<D>64==OE 
E?5F<4?<EF>6 6 >5?4EF< 6>4=>7> E>7O=EF64, 6?445NM<E >E=>64<< E>6D5<5==OE 
<=D>D<4F<>==OE F5E=>?>7<=, 6>?NG4NM<E E?>E>5O, <5F>4O < 4?7>D<F<O 
E5>D4, >5D45>F>< < ED4=5=<O 6 MF<E E<EF5<4E ?D>EFD4=EF65==> D4E?D545?5==>= 
< 4FD<5GF<6=>= <=D>D<4F<<. &4>65 <7GG4NFEO >E=>6=O5 L<D>>> <765EF=O5 ?D>-
7D4<<=O5 ?D>4G>FO ��%, <5F>4O < ED54EF64 E>744=<O ?D<?>65=<= 6 ED545 ��%. 
�4GG<FL EFG45=F4 >E=>64< E>6D5<5==OE F5E=>?>7<= ?>?GG5=<O, E5>D4 < >5D4-
5>F>< >>>D4<=<D>64==>= 75>M>>?>7<G5E>>= <=D>D<4F<<, <>45?<D>64=<O < 4=4-
?<74, <E?>?L7>64=<O 44==OE 6 ?D>F5EE5 ?D<=OF<O D5L5=<=; >5M<< ?D<=F<?4< 
<4F5<4F<G5E>>= >5D45>F>< 75>M>>?>7<G5E>>= <=D>D<4F<<, ?D>6545=<O <4F5<4-
F<G5E>>7> 4=4?<74 < ?>EFD>5=<O <4F5<4F<G5E><E <>45?5= 75>M>>?>7<G5E><E ?D>-
F5EE>6 < >5N5>F>6, 4=4?<74 <>45?5= < ?D>7=>74 D476<F<O E>5OF<= 

�5M4O FDG4>5<>>EFL 4<EF<??<=O E>EF46?O5F 3 74G5F=O5 54<=<FO (108 
G4E4). 

�D><56GF>G=O= >>=FD>?L: 74G5F. 

3. ��$�'��, �����$'��/% $��'�,&�&�� ��''���/ �� 
��%&������, %��&��%���/% % �����$'��/�� 

$��'�,&�&��� �%�����/ ��$�����&��,��� �$��$���/ 

�7GG5=<5 44==>= GG55=>= 4<EF<??<=O =4?D46?5=> =4 D>D<<D>64=<5 G 
>5GG4NM<EEO >><?5F5=F<=, ?D54EF46?5==OE 6 F45?<F5 1.
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4. %&$'�&'$� � %���$����� ��%&�����/ 

4.1 $4E?D545?5=<5 FDG4>U<>>EF< 4<EF<??<=O ?> 6<44< D45>F ?> E5<5EFD4< 
�5M4O FDG4>U<>>EFL 4<EF<??<=O E>EF46?O5F 3 74G5F=OE 54<=<FO (108 

G4E4), <E D4E?D545?5=<5 ?> 6<44< D45>F < E5<5EFDG ?D54EF46?5=> 6 F45?<F5 2.  

&45?<F4 2 
$4E?D545?5=<5 FDG4>U<>>EF< 4<EF<??<=O ?> 6<44< D45>F ?> E5<5EFD4<  

�<4 GG55=>= D45>FO 
&DG4>U<>>EFL 

G4E. 
6 F.G. ?> E5<5EFD4<  

75 
�5M4O FDG4>U<>>EFL 4<EF<??<=O ?> GG55=><G ??4=G 108 108 
1. �>=F4>F=4O D45>F4: 50,25 50,25 
�G4<F>D=4O D45>F4 50,25 50,25 

6 F>< G<E?5: 
�5>F<< 16 16 
�45>D4F>D=O5 D45>FO 34 34 
>>=F4>F=4O D45>F4 =4 ?D><56GF>G=>< >>=FD>?5 (�$�) 0,25 0,25 
2. %4<>EF>OF5?L=4O D45>F4 (%$%) 57,75 57,75 
D4EGUF=>-7D4D<G5E>4O D45>F4 ($�$) (?>47>F>6>4) 37 37 
E4<>EF>OF5?L=>5 <7GG5=<5 D4745?>6, E4<>?>47>F>6>4 

(?D>D45>F>4 < ?>6F>D5=<5 ?5>F<>==>7> <4F5D<4?4 < <4-

F5D<4?4 GG55=<>>6 < GG55=OE ?>E>5<=, ?>47>F>6>4 > ?45>-

D4F>D=O< < ?D4>F<G5E><< 74=OF<O<, >>??>>6<G<4< < F.4.) 

11,75 11,75 

�>47>F>6>4 > 74G5FG (>>=FD>?L) 9 9 

�<4 ?D><56GF>G=>7> >>=FD>?O: �4G5F 

4.2 %>45D64=<5 4<EF<??<=O  
&45?<F4 3 

&5<4F<G5E><= ??4= GG55=>= 4<EF<??<=O 

�4<<5=>64=<5 D4745?>6 < F5< 
4<EF<??<= (G>DG?=U=>) 

�E57> 
�G4<F>D=4O D45>F4 

�=54G4<F>D=4O 
D45>F4 %$ 

� �� ��$  
$4745? 1 �5><=D>D<4F<>==O5 E<EF5<O 74,75 12 26  36,75 
&5<4 1. �E=>6O F5>D<< ��% < D45>F4 E 54-
74<< 44==OE. 

7 1 2  4 

&5<4 2. %>EF46=O5 G4EF< 75><=D>D<4F<>=-
=OE E<EF5<. 

7 1 2  4 

&5<4 3. �E=>6O >4DF>7D4D<<. �4DF>7D4D<O 
< �5><=D>D<4F<>==O5 E<EF5<O 

10 2 4  4 

&5<4.4. -?5<5=FO ��%. �EF>G=<>< <=D>D-
<4F<< 4?O ��% 

10 2 4  4 

&5<4 5. �F<DD>6>4 >4DF. �E>55==>EF< < 
E<EF5<O 66>44 44==OE. 

16,75 2 4  10,75 

&5<4 6. �>45?< 44==OE ��%. 10 2 4  4 
&5<4 7. �<7G4?<74F<O >5N5>F>6 6 ��% 14 2 6  6 
$4745? 2 �=4?<7 44==OE ��% 24 4 8  12 

&5<4 8. �=4?<7 F<DD>6OE <>45?5= 
D5?L5D4. 

12 2 4  6 
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�4<<5=>64=<5 D4745?>6 < F5< 
4<EF<??<= (G>DG?=U=>) 

�E57> 
�G4<F>D=4O D45>F4 

�=54G4<F>D=4O 
D45>F4 %$ 

� �� ��$  
&5<4 9. �55 ��% 12 2 4  6 
�>47>F>6>4 > 74G5FG (>>=FD>?L) 9    9 
�>=F4>F=4O D45>F4 =4 ?D><56GF>G=>< 
>>=FD>?5 (�$�) 

0,25   0,25  

�E57> 74 5 E5<5EFD 108 16 34 0,25 57,75 
�F>7> ?> 4<EF<??<=5 108 16 34 0,25 57,75 

$4745? 1 �%���/ �����$�$��&������ %�%&��/. 

&5<4 1 �6545=<5 6 75>7D4D<G5E><5 <=D>D<4F<>==O5 E<EF5<O 
�?D545?5=<5 75><=D>D<4F<>==OE E<EF5< (��%). �E=>6>?>?474NM<5 F5D-

<<=O. $>?L ��% 6 EFDG>FGD5 E>6D5<5==>7> >5M5EF64. -6>?NF<O ��%. �?4EE<-
D<>4F<O ��%. �?4EE<D<>4F<O ?D>7D4<<=>7> >55E?5G5=<O ��%. %D5DO ?D<<5-
=5=<O ��%. �47>6O5 >><?>=5=FO ��%. �??4D4F=O5 ED54EF64. �D>7D4<<=>5 
>55E?5G5=<5 ��%. �4==O5 4?O ��%. �<4O 44==OE, <EF>G=<>< 44==OE. �=F57D4-
F<O 44==OE 6 ��% �>7<>6=>EF< ��%. $G=>F<>=4?L=O5 7DG??O. 

&5<4 2 �D74=<74F<O <=D>D<4F<< 6 ��%. 
�D74=<74F<O <=D>D<4F<< 6 ��%. %FDG>FGDO < <>45?< 44==OE ��%. �F>5-

D465=<5 >5N5>F>6 D54?L=>7> <<D4 6 ��% %FDG>FGDO 44==OE. �5>F>D=4O, D4EFD>-
64O < FD<4=7G?OF<>==4O <>45?< 44==OE. %D46=5=<5 <>45?5= 44==OE. �5F>4O 
?D54EF46?5=<O >>?<G5EF65==>= < >4G5EF65==>= >?<E4F5?L=>= (4FD<5GF<6=>=) 
<=D>D<4F<<. $>D<4FO 44==OE. �47O 75>44==OE (75>?D>EFD4=EF65==OE 44==OE) 
< G?D46?5=<5 <<<. 

&5<4 3 �4DF>7D4D<O < 75><=D>D<4F<>4. 
�74<<>45=EF6<5 >4DF>7D4D<< < 75><=D>D<4F<><. �E=>6=O5 E6>=EF64 < 

>?D545?5=<O 75>7D4D<G5E><E >4DF. �4DFO >4> ?D>EFD4=EF65==O5 <>45?< <5EF=>-
EF<. �4F5<4F<G5E>4O >E=>64 >4DF. �>=OF<5 > >4DF>7D4D<G5E><E ?D>5>F<OE. �?4E-
E<D<>4F<O ?D>5>F<= ?> E4D4>F5DG <E>465=<=. �E>465=<O G7?>6, =4?D46?5=<= < 
??>M445=. $46=>?D><56GF>G=O5 ?D>5>F<<. �?4EE<D<>4F<O ?D>5>F<= ?> 6<4G 
<5D<4<4=>6 < ?4D4??5?5= =>D<4?L=>= E5F><. �4ELF45. %>>F=>L5=<O <4ELF45>6 
>4DF, 4MD> < >>E<<G5E><E E=<<>>6. �4DF>7D4D<G5E>4O 75=5D4?<74F<O. %GM=>EFL 
< D4>F>DO 75=5D4?<74F<<. �<4O 75=5D4?<74F<<. �4DF>7D4D<G5E><5 7=4><, <E 
?D<<5=5=<5 < 4<DD5D5=F<4F<O. �><?>=>6>4. %<EF5<4 ?D<5<>6 4=4?<74 >4DF. 

&5<4 4 $G=>F<< < <=EFDG<5=FO ��% 
�E=>6=O5 DG=>F<< ��%, E6O74==O5 E 4=4?<7>< ?D>EFD4=EF65==>-4FD<5G-

F<6=>= <=D>D<4F<<. �4?D>E ?> 4FD<5GF4< < <E >F>5D465=<5. �><E> F<DD>6OE 
>4DF < <E 6<7G4?<74F<O. �?4EE<D<F<D>64=<5 =5?D>EFD4=EF65==OE 44==OE. �4D-
F>7D4D<G5E><5 <7<5D5=<O (D4EEF>O=<5, =4?D46?5=<5, ??>M44L). %F4F<EF<G5E><5 
DG=>F<<. 

&5<4 5 �D>EFD4=EF65==O= 4=4?<7 44==OE 
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�D>EFD4=EF65==O= 4=4?<7 44==OE. �GD5D<74F<O. %5F56>= 4=4?<7. �=4-
?<7 5?<64=L57> E>E544 (4=4?<7 5?<7>EF<). �?5D4F<< =4?>65=<O (overlay). �>=<-
D>64=<5. �5D5>?4EE<D<>4F<O. �=4?<7 6<4<<>EF<-=56<4<<>EF<. �4DF><5FD<G5-
E><5 DG=>F<<. �=F5D?>?OF<O. %>744=<5 >>=FGD>6. �5>><?>7<F<O < >5N54<=5=<5 
>5N5>F>6. �D<<5=5=<5 ��% 4?O D5L5=<O ?D>EFD4=EF65==OE 7444G. 

&5<4 6 -F4?O < ?D46<?4 ?D>5>F<D>64=<O ��%-?D>5>F4 
-F4?O < ?D46<?4 ?D>5>F<D>64=<O ��%-?D>5>F4. %>744=<5 ��%-?D>-

5>F4. �D<=F<?O D45>FO E =4EF>?L=O<< ��% =4 ?D<<5D5 ArcView (SAGA-GIS). 
�=4>><EF6> E <=F5DD5=E><, 6<44<< < F5<4<<. �47DG7>4 44==OE 6 ArcView 
(SAGA-GIS). �F>5D465=<5 F5<. &5E=<>4 D45>FO E 4FD<5GF<6=O<< F45?<F4<<. 
%>744=<5 < D544>F<D>64=<5 L5=?_D4=?>6. �4?D>EO > 5474< 75>44==OE ?D>EFD4=-
EF65==OE >5N5>F>6 < 4=4?<7 E>45D64=<O F5<. �5>>>4<D>64=<5 44D5E>6. %>744=<5 
>><?>=>6>>. 

&5<4 7 �<7G4?<74F<O 75>?D>EFD4=EF65==OE 44==OE. 
�5F>4O < ED54EF64 6<7G4?<74F<< 75>?D>EFD4=EF65==OE 44==OE. -?5>-

FD>==O5 >4DFO < 4F?4EO. �4DF>7D4D<G5E><5 E?>E>5O >F>5D465=<O D57G?LF4F>6 
4=4?<74 44==OE. &D5E<5D=4O 6<7G4?<74F<O. 

$4745? 2 �=4?<7 44==OE ��% 

&5<4 8 �=4?<7 F<DD>6OE <>45?5= D5?L5D4. 
�>45?<D>64=<5 D5?L5D4 75<=>= ?>65DE=>EF< < >F5=>4 57> F>?>7D4D<-

G5E><E E4D4>F5D<EF<>. &<DD>6O5 <>45?< D5?L5D4 (&�$). �>45?L GRID. �>45?L 
TIN. &D<4=7G?OF<O �5?>=5. �E=>6=O5 M?5<5=FO TIN-<>45?<. �=F5D?>?OF<O. �=-
F5D?>?OF<O <5F>4>< >5D4F=OE 6765L5==OE D4EEF>O=<= (IDW). �=F5D?>?OF<O 
<5F>4>< �D<7<=7 (Kriging). �=F5D?>?OF<O <5F>4>< E??4== (Spline). �=F5D?>?O-
F<O =4 >E=>65 ?>?<=><<4?L=OE DG=>F<= (Trend). �E?>?L7>64=<5 &�$. �>EFD>-
5=<5 <7>?<=<=. �D<D<5F<G5E><5 >?5D4F<< E ?>65DE=>EFO<<. �OG<E?5=<5 G7?>6 
=4>?>=4. ->E?>7<F<O E>?>=>6. �=4?<7 7>= 6<4<<>EF</=56<4<<>EF<. �>EFD>5=<5 
7D4D<>>6 =4 >E=>65 &�$. &DUE<5D=4O 6<7G4?<74F<O. 

&5<4 9 �55 ��% 
��% < �=F5D=5F. �74<<>45=EF6<5 ��% < D4E?D545?5==OE 547 75>44=-

=OE G5D57 �=F5D=5F. &5E=>?>7<G5E><5 D5L5=<O 674<<>45=EF6<O. �=F5D=5F->4D-
F>7D4D<D>64=<5. �4DF>7D4D<G5E><5 web-E5D6<EO. �=F57D4F<O ��� 6 >4DF>7D4-
D<G5E><5 web-E5D6<EO. �5>?>DF4?O. &<?>?>7<O 75>?>DF4?>6. �E=>6=O5 DG=>-
F<< 75>?>DF4?>6: ?><E>>6O5 DG=>F<<, 6<7G4?<74F<O 44==OE, 4=4?<F<G5E><5 
DG=>F<<. �5?4G=O5 F5E=>?>7<< 6 ��%. �E=>6=O5 >5?4G=O5 E5D6<EO 6 ��% 
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4.3 �5>F<</?D4>F<G5E><5 74=OF<O 
&45?<F4 4 

%>45D64=<5 ?45>D4F>D=>7> ?D4>F<>G<4 >>=FD>?L=O5 <5D>?D<OF<O 

7 
?/? 

7 D4745?4 
7 < =4764=<5 ?5>F<=/ 

?45>D4F>D=OE/ 
?D4>F<G5E><E 74=OF<= 

$>D<<DG5<O5 
>><?5F5=F<< 

�<4 
>>=FD>?L=>7> 
<5D>?D<OF<O 

�>?-
6> 
G4-
E>6 

1. $4745? 1 �E=>6O 75><=D>D<4F<>==OE E<EF5< 
&5<4 2. �D-
74=<74F<O 
<=D>D<4F<< 
6 ��%. 

�45>D4F>D=4O D45>F4 7 1.  
�6545=<5 6 E?5F<4?<7<D>-
64==>5 ?D>7D4<<=>5 >55E-
?5G5=<5 75><=D>D<4F<>=-
=OE E<EF5< (ArcView 
(SAGA-GIS), SAGA-GIS) 

'�-1.1, '�-1.2, 
��>E-1.2, 
��>E-2.2, 
��>E-5.2, 
��>E-7.2 

 2 

�45>D4F>D=4O D45>F4 7 2.  
�4=<?G?<D>64=<5 < >F>5D4-
65=<5 75>?D>EFD4=EF65==OE 
44==OE 

��>E-2.2, 
��>E-5.2, 
��>E-7.2 

�O44G4 7444=<O 
> $�$71 

4 

&5<4 3. �4D-
F>7D4D<O < 
75><=D>D<4-
F<>4 

�45>D4F>D=4O D45>F4 7 3. 
�>?GG5=<5, 66>4 < D544>F<-
D>64=<5 75>?D>EFD4=EF65=-
=OE 44==OE 

��>E-2.2, 
��>E-5.2, 
��>E-7.2 

GEF=O= >?D>E, 4 

&5<4 4.  
$G=>F<< < 
<=EFDG-
<5=FO ��% 

�45>D4F>D=4O D45>F4 7 4. 
�?5D4F<< E D4EFD>6O<< 
44==O<<. 

��>E-2.2, 
��>E-5.2, 
��>E-7.2 

 4 

�45>D4F>D=4O D45>F4 7 5. 
�?5D4F<< E 65>F>D=O<< 
44==O<<. 

��>E-2.2, 
��>E-5.2, 
��>E-7.2 

'EF=O= >?D>E, 
F5EF<D>64=<5. 

4 

�45>D4F>D=4O D45>F4 7 6. 
�?5D4F<< E 4FD<5GF<6=O<< 
44==O<<. 

��>E-2.2, 
��>E-5.2, 
��>E-7.2 

 2 

&5<4 5. 
�F<DD>6>4 
>4DFO 

�45>D4F>D=4O D45>F4 7 7.  
�D>EFD4=EF65==O= 4=4?<7 
75>-44==OE 

'�-1.1, '�-1.2, 
��>E-1.2, 
��>E-2.2 

 2 

&5<4 6 
-F4?O < ?D4-
6<?4 ?D>5>-
F<D>64=<O 
��%-?D>-
5>F4 

�45>D4F>D=4O D45>F4 7 8. 
�5>EF4F<EF<G5E><= 4=4?<7 
?D>EFD4=EF65==OE 44==OE. 

'�-1.1, '�-1.2, 
��>E-1.2, 
��>E-2.2 

- 

2 

&5<4 7. �<-
7G4?<74F<O 
75>?D>EFD4=-
EF65==OE 
44==OE 

�45>D4F>D=4O D45>F4 7 9.. 
�4?D>EO 6 ��% 3 =4 ?D<<5D5 
6O5D4==>= 75><=D>D<4F<>=-
=>= E<EF5<O 

'�-1.1, '�-1.2, 
��>E-1.2, 
��>E-2.2 

�D>65D>4 6O-
?>?=5=<O $�$ 

72. &5EFO 

4 

$4745? 2 �=4?<7 44==OE ��% 
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7 
?/? 

7 D4745?4 
7 < =4764=<5 ?5>F<=/ 

?45>D4F>D=OE/ 
?D4>F<G5E><E 74=OF<= 

$>D<<DG5<O5 
>><?5F5=F<< 

�<4 
>>=FD>?L=>7> 
<5D>?D<OF<O 

�>?-
6> 
G4-
E>6 

&5<4 8 �=4-
?<7 F<DD>-
6OE <>45?5= 
D5?L5D4 

�45>D4F>D=4O D45>F4 7 10. 
�>EFD>5=<5 F<DD>6OE <>-
45?5= 75<=>= ?>65DE=>EF<. 
�>?GG5=<5 44==OE <7 >F-
>DOFOE <EF>G=<>>6.�5D4-
5>F>4 F<DD>6OE <7>5D465-
=<= 75<=>= ?>65DE=>EF< 

'�-1.1, '�-1.2, 
��>E-1.2, 
��>E-2.2 

 

4 

&5<4 9. �55 
��% �45>D4F>D=4O D45>F4 7 11.  

��% >=?4== 

'�-1.1, '�-1.2, 
��>E-1.2, 
��>E-2.2 

'EF=O= >?D>E, 
F5EF<D>64=<5. 

4 

&45?<F4 5 
�5D5G5=L 6>?D>E>6 4?O E4<>EF>OF5?L=>7> <7GG5=<O 4<EF<??<=O 

7 
?/? 

7 D4745?4 < F5<O 
�5D5G5=L D4EE<4FD<645<OE 6>?D>E>6 4?O 

E4<>EF>OF5?L=>7> <7GG5=<O 
$4745? 1 �5><=D>D<4F<>==O5 E<EF5<O 

1. &5<4 1 �6545=<5 6 75>-
7D4D<G5E><5 <=D>D<4-
F<>==O5 E<EF5<O 

�47>6O5 >><?>=5=FO ��%. �??4D4F=O5 ED54EF64. �D>7D4<<-
=>5 >55E?5G5=<5 ��%. �4==O5 4?O ��%. �<4O 44==OE, <E-
F>G=<>< 44==OE. �=F57D4F<O 44==OE 6 ��% �>7<>6=>EF< 
��%. $G=>F<>=4?L=O5 7DG??O. ('�-1.1, '�-1.2, ��>E-1.2, 
��>E-2.2) 

&5<4 2 �D74=<74F<O 
<=D>D<4F<< 6 ��%. 

�5F>4O ?D54EF46?5=<O >>?<G5EF65==>= < >4G5EF65==>= >?<-
E4F5?L=>= (4FD<5GF<6=>=) <=D>D<4F<<. $>D<4FO 44==OE. 
�47O 75>44==OE (75>?D>EFD4=EF65==OE 44==OE) < G?D46?5=<5 
<<<. ('�-1.1, '�-1.2, ��>E-1.2, ��>E-2.2) 

&5<4 3 �D74=<74F<O 
<=D>D<4F<< 6 ��%. 

�4DF>7D4D<G5E>4O 75=5D4?<74F<O. %GM=>EFL < D4>F>DO 75=5-
D4?<74F<<. �<4O 75=5D4?<74F<<. �4DF>7D4D<G5E><5 7=4><, <E 
?D<<5=5=<5 < 4<DD5D5=F<4F<O. �><?>=>6>4. %<EF5<4 ?D<5-
<>6 4=4?<74 >4DF. ('�-1.1, '�-1.2, ��>E-1.2, ��>E-2.2) 

&5<4 4 �D74=<74F<O 
<=D>D<4F<< 6 ��%. 

�><E> F<DD>6OE >4DF < <E 6<7G4?<74F<O. �?4EE<D<F<D>64=<5 
=5?D>EFD4=EF65==OE 44==OE. �4DF>7D4D<G5E><5 <7<5D5=<O 
(D4EEF>O=<5, =4?D46?5=<5, ??>M44L). %F4F<EF<G5E><5 DG=>-
F<<. ('�-1.1, '�-1.2, ��>E-1.2, ��>E-2.2) 

&5<4 5 �D>EFD4=EF65=-
=O= 4=4?<7 44==OE 

�=4?<7 6<4<<>EF<-=56<4<<>EF<. �4DF><5FD<G5E><5 DG=>-
F<<. �=F5D?>?OF<O. %>744=<5 >>=FGD>6. �5>><?>7<F<O < 
>5N54<=5=<5 >5N5>F>6. �D<<5=5=<5 ��% 4?O D5L5=<O ?D>-
EFD4=EF65==OE 7444G. ('�-1.1, '�-1.2, ��>E-1.2, ��>E-2.2) 

&5<4 6 -F4?O < ?D4-
6<?4 ?D>5>F<D>64=<O 
��%-?D>5>F4 

&5E=<>4 D45>FO E 4FD<5GF<6=O<< F45?<F4<<. %>744=<5 < D5-
44>F<D>64=<5 L5=?_D4=?>6. �4?D>EO > 5474< 75>44==OE ?D>-
EFD4=EF65==OE >5N5>F>6 < 4=4?<7 E>45D64=<O F5<. �5>>>4<-
D>64=<5 44D5E>6. %>744=<5 >><?>=>6>>. ('�-1.1, '�-1.2, 
��>E-1.2, ��>E-2.2) 

&5<4 7 �<7G4?<74F<O 
75>?D>EFD4=EF65==OE 
44==OE 

�5F>4O < ED54EF64 6<7G4?<74F<< 75>?D>EFD4=EF65==OE 44=-
=OE. -?5>FD>==O5 >4DFO < 4F?4EO. �4DF>7D4D<G5E><5 E?>-
E>5O >F>5D465=<O D57G?LF4F>6 4=4?<74 44==OE. &D5E<5D=4O 
6<7G4?<74F<O. ('�-1.1, '�-1.2, ��>E-1.2, ��>E-2.2) 



 14 

7 
?/? 

7 D4745?4 < F5<O 
�5D5G5=L D4EE<4FD<645<OE 6>?D>E>6 4?O 

E4<>EF>OF5?L=>7> <7GG5=<O 
$4745? 2 �=4?<7 44==OE ��% 

 &5<4 8 �=4?<7 F<DD>-
6OE <>45?5= D5?L5D4. 

�E=>6=O5 M?5<5=FO TIN-<>45?<. �=F5D?>?OF<O. �=F5D?>?O-
F<O <5F>4>< >5D4F=OE 6765L5==OE D4EEF>O=<= (IDW). �=F5D-
?>?OF<O <5F>4>< �D<7<=7 (Kriging). �=F5D?>?OF<O <5F>4>< 
E??4== (Spline). �=F5D?>?OF<O =4 >E=>65 ?>?<=><<4?L=OE 
DG=>F<= (Trend). �E?>?L7>64=<5 &�$. �>EFD>5=<5 <7>?<=<=. 
�D<D<5F<G5E><5 >?5D4F<< E ?>65DE=>EFO<<. �OG<E?5=<5 G7-
?>6 =4>?>=4. ->E?>7<F<O E>?>=>6. �=4?<7 7>= 6<4<<>EF</=5-
6<4<<>EF<. �>EFD>5=<5 7D4D<>>6 =4 >E=>65 &�$. &DUE<5D=4O 
6<7G4?<74F<O. ('�-1.1, '�-1.2, ��>E-1.2, ��>E-2.2) 

 &5<4 9 �55 ��% �E=>6=O5 DG=>F<< 75>?>DF4?>6: ?><E>>6O5 DG=>F<<, 6<7G4-
?<74F<O 44==OE, 4=4?<F<G5E><5 DG=>F<<. �5?4G=O5 F5E=>?>-
7<< 6 ��%. �E=>6=O5 >5?4G=O5 E5D6<EO 6 ��%. (��-10; ��-
16) 

5. ��$�����&��,�/� &�%�������  

&45?<F4 6 
�D<<5=5=<5 4>F<6=OE < <=F5D4>F<6=OE >5D47>64F5?L=OE F5E=>?>7<= 

7 
?/? &5<4 < D>D<4 74=OF<O 

�4<<5=>64=<5 <E?>?L7G5<OE 4>F<6-
=OE < <=F5D4>F<6=OE >5D47>64F5?L-

=OE F5E=>?>7<= 
1 �EF>G=<>< 44==OE 4?O ��%, E6>-

5>4=> D4E?D>EFD4=O5<O5 44==O5, 
4DE<6O 44==OE 4<EF4=F<>==>7> 
7>=4<D>64=<O. �>47>F>6>4 ?>?G-
G5==OE 44==OE 4?O 66>44 6 E>5-
EF65==O= ?D>5>F (?5D5>>=65DF4-

F<O, ?D>5F<D>64=<5, M>EF5=F) 

�� 
�5>F<O-55E544. 
�5NOE=<F5?L=>-<??NEFD4F<>==O= <5-
F>4 

2 &<DD>6>5 >F>5D465=<5 F5DD<F>-
D<< �� 

�=F5D4>F<6=4O D>D<4 <7GG5=<O >><?LN-
F5D=OE F5E=>?>7<=. �D575=F4F<O ?D>-
7D4<<=>7> >><??5>E4.  

3 �<7G4?<74F<O >F>5D465=<O ?>-
65DE=>EF< F5DD<F>D<< 6 6<45 M?5>-

FD>==>= >4DFO E <7>7<?E4<<. 
�� 

�5>F<O-55E544. �5NOE=<F5?L=>-<??N-
EFD4F<6=O= <5F>4. �=4?<7 >>=>D5F=OE 
E<FG4F<=. �D4>F<G5E><5 <5F>4<><.  

4 �=4?<7 6<7G4?<7<D>64==>= M?5>-
FD>==>= >4DFO ?>65DE=>EF=>7> 

EF>>4 =4 F5DD<F>D<< E >F5=>>= EF5-
?5=< 6>4=>= MD>7<< < ??4=<D>64-

=<O ?D>F<6>MD>7<>==OE <5D>?D<O-
F<= 

�� 
�D4>F<G5E>>5 74=OF<5 E <=4<6<4G4?L-
=O< 7444=<5< 

6. &��'-�� ���&$��, '%�������%&� � �$����'&�'��/ 
�&&�%&�&�/ �� �&���� �%�����/ ��%&�����/ 

6.1. &<?>6O5 >>=FD>?L=O5 7444=<O <?< <=O5 <4F5D<4?O, =5>5E>4<<O5 4?O 
>F5=>< 7=4=<=, G<5=<= < =46O>>6 < (<?<) >?OF4 45OF5?L=>EF< 

&5>GM<= >>=FD>?L GE?5645<>EF< EFG45=F>6 < EF5?5=< ED>D<<D>64==>EF< 
>><?5F5=F<= ?D>6>4<FEO E<EF5<4F<G5E>< 6 D47=>>5D47=OE D>D<4E: 
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÷ >F65F>6 =4 6>?D>EO F5>GM57> >>=FD>?O; 
÷ M>E?D5EE-F5EF<D>64=<O ?> >F45?L=O< 6>?D>E4< <7GG45<>= F5<O. 

�D>E>4=O< EG<F45FEO GD>65=L ?D46<?L=OE >F65F>6 =4 6>?D>EO =5 =<65 
70%. 

$>=4 >F5=>G=OE ED54EF6 F5>GM57> >>=FD>?O ?D54EF46?5= ��  
«�5><=D>D<4F<>==O5 E<EF5<O». 

&5<O 4?O D5D5D4F>6. 

1. �E?>?L7>64=<5 75><=D>D<4F<>==OE F5E=>?>7<= ?D< E>744=<< ?>4E<-
EF5<O <>=<F>D<=74 6>4>E>7O=EF65==OE E<EF5< < E>>DG65=<=. 

2. �5><=D>D<4F<>==>5 >55E?5G5=<5 ?D<=OF<O G?D46?5=G5E><E D5L5=<= 
�D<<5=5=<5 <=F57D4?L=OE ?>>474F5?5= 4?O >F5=>< 6?<O=<O 4=FD>?>75=-
=OE D4>F>D>6 =4 F5DD<F>D<N. 

3. %?5F<4?<7<D>64==O5 GG55=O5 ��%. 
4. �D<<5=5=<5 <4F5<4F<>>->4DF>7D4D<G5E>>7> <>45?<D>64=<O ?D< D5L5=<< 

7<4D>?>7<G5E><E 7444G 
5. �5><=D>D<4F<>==>5 <>45?<D>64=<5 ?D>F5EE>6 >EGL5=<O >DG?=OE 6>4>-

ED4=<?<M 
6. �F5=>4 M>>?>7>-M>>=><<G5E>>7> GM5D54 >>DG64NM5= ?D<D>4=>= ED545 

?D< 464D<OE =4 =5DF5?D>6>44E 
7. �D<<5=5=<5 EF4F<EF<G5E><E <5F>4>6 6 ?D>EFD4=EF65==OE <EE?54>64=<OE. 
8. �D<<5=5=<5 75><=D>D<4F<>==>7> >4DF>7D4D<D>64=<O 6 E5?LE>>< E>7O=-

EF65. ��% >E>5> >ED4=O5<OE ?D<D>4=OE F5DD<F>D<=. 
9. &5<4F<G5E>>5 75><=D>D<4F<>==>5 >4DF>7D4D<D>64=<5. �EF>D<G5E><= >5-

7>D. 
10. �D<<5=5=<5 75><=D>D<4F<>==>7> >4DF>7D4D<D>64=<O 6 M>>?>7>-75>7D4-

D<G5E><E <EE?54>64=<OE ?D<D>4=OE F5DD<F>D<=.  
11. �5><=D>D<4F<>==O5 Web-E5D6<EO. �57>D=>-ED46=<F5?L=4O E4D4>F5D<-

EF<>4. 
12. Web->4DF>7D4D<O, >4> <EF>G=<> 44==OE 4?O 75>7D4D<G5E><E <EE?54>64-

=<=. $47D45>F>4 ��%-?D>5>F4 «->>?>7<G5E>>5 E>EF>O=<5 F5DD<F>D<< 
&>5?4EF<»  

13. $47D45>F>4 ��%-?D>5>F4 «�5<>7D4D<G5E>4O E<FG4F<O 6 &>5?4EF<»  
14. �EF>G=<>< ?D>EFD4=EF65==OE 44==OE 4?O ��%.  
15. �5><=D>D<4F<>==>5 <>45?<D>64=<5 >?4E=OE F5E=>75==OE < ?D<D>4=OE 

?D>F5EE>6.  
16. �E?>?L7>64=<5 44==OE ��� 6 75><=D>D<4F<>==>< >4DF>7D4D<D>64=<<.  
17. �5><=D>D<4F<>==>5 ?D>7D4<<=>5 >55E?5G5=<5. �57>D=>-ED46=<F5?L=4O 

E4D4>F5D<EF<>4.  

�>?D>EO 4?O ?D><56GF>G=>7> >>=FD>?O (74G5F4) 7=4=<=, >5GG4NM<EEO ?> 
4<EF<??<=5 «�5><=D>D<4F<>==O5 E<EF5<O» 

1. ��%. %FDG>FGD4 < >5?4EF< ?D<<5=5=<O. �D>7D4<<=O5 ED54EF64.  
2. �4F5<4F<G5E>4O >E=>64 >4DF. �5<=>= M??<?E><4. �4ELF45O >4DF. 
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3. �4F5<4F<G5E>4O >E=>64 >4DF. �4DF>7D4D<G5E><5 ?D>5>F<<. $4E?>7=464=<5 
?D>5>F<=. 

4. �4==O5 6 >><?LNF5D5. �><?LNF5D=>5 ?D54EF46?5=<5 G<E5? < F5>EF4. 
5. �D74=<74F<O 44==OE 6 65>F>D=OE EFDG>FGD4E 44==OE. &>G5G=O5 >5N5>FO. 

�<=5==O5 >5N5>FO. �>?<7>=O.  
6. &>?>?>7<G5E>4O EFDG>FGD4. $544>F<D>64=<5 < >5=>6?5=<5 ?>?<7>=4?L=>= 

E5F<. 
7. �D74=<74F<O 44==OE 6 D4EFD>6OE EFDG>FGD4E 44==OE. �><?4>F=O5 <5-

F>4O 4?O ED4=5=<O D4EFD>6OE 44==OE 
8. %FDG>FGD4 ��. &<?O >D74=<74F<O 44==OE 6 >><?LNF5D5. %<EF5<O G?D46-

?5=<O 5474<< 44==OE. &<?O %'��. 
9. %>744=<5 =5?D5DO6=OE ?>65DE=>EF5= <7 F>G5G=OE 44==OE. �=F5D?>?O-

F<O. 
10. �7<5D5=<O 6 ��%. �7<5D5=<5 4?<=O ?<=5==OE >5N5>F>6. �7<5D5=<5 ?>-

?<7>=>6. �5DO D>D<O. 
11. �D>EFD4=EF65==O= 4=4?<7 4<E>D5F=OE >5N5>F>6. �E=>6=O5 >?4EEO >?5D4-

F<= 4?O ?D>EFD4=EF65==>7> 4=4?<74. 
12. �D>EFD4=EF65==O= 4=4?<7 4<E>D5F=OE >5N5>F>6. �?5D4F<< E 4FD<5GF4<< 

75>7D4D<G5E><E >5N5>F>6. 
13. �D>EFD4=EF65==O= 4=4?<7 4<E>D5F=OE >5N5>F>6. �5D5>DOF<5 >5N5>F>6 < 

<E ?5D5E5G5=<5. �GD5D<74F<O. 
14. �D>EFD4=EF65==O= 4=4?<7 4<E>D5F=OE >5N5>F>6. �65D?5==O5 >?5D4F<< 6 

ARCVIEW (SAGA-GIS). 
15. �D>EFD4=EF65==O= 4=4?<7 =5?D5DO6=OE ?>?5=. �?755D4 >4DF < >4DF>7D4-

D<G5E>>5 <>45?<D>64=<5. �?5D4F<< E F>G>>=. 
16. �D>EFD4=EF65==O= 4=4?<7 =5?D5DO6=OE ?>?5=. �F>5D465=<5 G>?>=4 < 

M>E?>7<F<< =4 >4DF5. �4DFO ?<=<= 6<4<<>EF<. 
17. �D>EFD4=EF65==O= 4=4?<7 =5?D5DO6=OE ?>?5=. $<?LFD4F<O. &<?O D<?L-

FD>6. 
18. �D>EFD4=EF65==O= 4=4?<7 =5?D5DO6=OE ?>?5=. �=F5D?>?OF<O. �E?>?L7>-

64=<5 >644D4F=OE >>>=. 
19. �D>EFD4=EF65==O= 4=4?<7 =5?D5DO6=OE ?>?5=. �?D545?5=<5 ?GF<. $4E-

?D>EFD4=5=<5 E FD5=<5< <?< 557 =57>. 
20. �<EF4=F<>==>5 7>=4<D>64=<5. $<7<G5E><5 ?D<=F<?O ���. &<?O E>4=5-

D>6. 
21. %<EF5<4 7?>54?L=>7> ?>7<F<>=<D>64=<O. �5F>4O >?D545?5=<O >>>D4<-

=4F. 

6.2. �?<E4=<5 ?>>474F5?5= < >D<F5D<56 >>=FD>?O GE?5645<>EF<, >?<E4=<5 
L>4? >F5=<64=<O 

�D<F5D<< >F5=>< 7=4=<= EFG45=F>6 ?D< E44G5 74G5F4 

�F5=>G=O5 ED54EF64 F5>GM57> >>=FD>?O GE?5645<>EF< < ED>D<<D>64==>-
EF< >><?5F5=F<=. 
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�?O >F5=>< 7=4=<=, G<5=<=, =46O>>6 < D>D<<D>64=<O >><?5F5=F<< ?> 4<E-
F<??<=5 ?D<<5=O5FEO FD44<F<>==4O E<EF5<4 >>=FD>?O < >F5=>< GE?5645<>EF< 
EFG45=F>6.  

�D< <E?>?L7>64=<< FD44<F<>==>= E<EF5<O >>=FD>?O < >F5=>< GE?5645<>-
EF< EFG45=F>6 ?D54EF46?5=O >D<F5D<< 6OEF46?5=<O >F5=>> ?> E<EF5<5 «74-
GF5=>», «=5 74GF5=>». 

�D<F5D<< >F5=<64=<O D57G?LF4F>6 >5GG5=<O 
&45?<F4 7 

�F5=>4 �D<F5D<< >F5=<64=<O 

«74GF5=>» 

«74GF5=>» 6OEF46?O5FEO <47<EFDG, ?>>4746L5<G 4>EF4F>G=O= 
>5N5< 7=4=<= 6 D4<>4E >5D47>64F5?L=>7> EF4=44DF4; GE6>5=<5 
>E=>6=>= ?<F5D4FGDO, D5>><5=4>64==>= GG55=>= ?D>7D4<<>= 
4<EF<??<=O; <E?>?L7>64=<5 =4GG=>= F5D<<=>?>7<<, 
EF<?<EF<G5E>>5 < ?>7<G5E>>5 <7?>65=<5 >F65F4 =4 6>?D>EO, 
6?445=<5 <=EFDG<5=F4D<5< <7GG45<>= 4<EF<??<=O, G<5=<5 
>D<5=F<D>64FLEO 6 >E=>6=OE F5>D<OE, >>=F5?F<OE < 
=4?D46?5=<OE ?> <7GG45<>= 4<EF<??<=5 < 4464FL << >F5=>G; 
D45>F4 ?>4 DG>>6>4EF6>< ?D5?>4464F5?O =4 ?D4>F<G5E><E 
74=OF<OE, 4>?GEF<<O= GD>65=L >G?LFGDO <E?>?=5=<O 7444=<=. 

«=5 74GF5=>» 
 

«=5 74GF5=>» 3 G <47<EFD4 >5=4DG65= =54>EF4F>G=> ?>?=O= >5N5< 
7=4=<= 6 D4<>4E >5D47>64F5?L=>7> EF4=44DF4; =5 7=4=<5 G4EF< 
>E=>6=>= ?<F5D4FGDO, D5>><5=4>64==>= GG55=>= ?D>7D4<<>= 
4<EF<??<=O; <E?>?L7>64=<5 =4GG=>= F5D<<=>?>7<<, <7?>65=<5 
>F65F4 =4 6>?D>EO E EGM5EF65==O<< ?<=76<EF<G5E><<< < 
?>7<G5E><<< >L<5>4<<; E?45>5 6?445=<5 <=EFDG<5=F4D<5< 
GG55=>= 4<EF<??<=O, =5G<5=<5 >D<5=F<D>64FLEO 6 >E=>6=OE 
F5>D<OE, >>=F5?F<OE < =4?D46?5=<OE <7GG45<>= 4<EF<??<=O; 
?4EE<6=>EFL =4 ?D4>F<G5E><E 74=OF<OE, =<7><= GD>65=L >G?LFGDO 
<E?>?=5=<O 7444=<=; >F>47 >F >F65F4 <?< >FEGFEF6<5 >F65F4. 

7. ''����-��&���'�%��� � ��$�$��&������ 
���%��'���� ��%&�����/ 

7.1 �E=>6=4O ?<F5D4FGD4 
1. �5=?<75D, �=4F>?<= �<E4=?>6<G. �$�������� �����$�$��&�-

���/% %�%&�� ��/ $�,���/ �$������/% ����' ����&�-
$���� � '�$������/: GG55=>5 ?>E>5<5 / �. �. �5=?<75D, �. %. �D<>-
?4564; $>EE<=E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F - �%%� <<5=< 
�. �. &<<<DO7564 (�>E>64). 4 -?5>FD>=. F5>EF>6O5 44=. 4 �>E>64, 2018 
4 154 E. 4 �>??5>F<O: 'G55=4O < GG55=>-<5F>4<G5E>4O ?<F5D4FGD4. 4 $5-
6<< 4>EFG?4 : http://elib.timacad.ru/dl/local/umo362.pdf. - �47?. E F<FG?. 
M>D4=4. - -?5>FD>=. 65DE<O ?5G. ?G5?<>4F<<. 4 
URL:http://elib.timacad.ru/dl/local/umo362.pdf. 

2. �D<6F>6, �. �. �=D>D<4F<>==O5 F5E=>?>7<<. �E=>6O D45>FO E 5474<< 
44==OE : GG55=>5 ?>E>5<5 / �. �. �D<6F>6, %. �. %>D>L5=>>. 4 %4=>F-
�5F5D5GD7 : %�5�'& <<. �.�. �>=G-�DG56<G4, 2018. 4 107 E. 4 &5>EF : 
M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 
https://e.lanbook.com/book/180052 
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7.2 �>?>?=<F5?L=4O ?<F5D4FGD4 
1. �GD?>6<G, �. �. ��%-4=4?<7 < <>45?<D>64=<5 : GG55=>-<5F>4<G5E>>5 ?>-

E>5<5 / �. �. �GD?>6<G. 4 �<=E> : ��', 2018. 4 167 E. 4 ISBN 978-985-
566-618-0. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<-
EF5<4. 4 URL: https://e.lanbook.com/book/180462  

2. �4FGL><=, �. %. �4DF>7D4D<D>64=<5 < 4=4?<7 ?D>EFD4=EF65==OE 44==OE 
E <E?>?L7>64=<5< 75><=D>D<4F<>==>= E<EF5<O QGIS : GG55=>5 ?>E>5<5 / 
�. %. �4FGL><=. 4 �<D>6 : �OF�', 2018. 4 100 E. 4 &5>EF : M?5>FD>=-
=O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 
https://e.lanbook.com/book/164420  

3. �4DF>7D4D<O E >E=>64<< F>?>7D4D<< : GG55=>-<5F>4<G5E>>5 ?>E>5<5 / E>-
EF46<F5?L &. �. �<G5->>?. 4 �O7O? : &G6�', 2020. 4 92 E. 4 &5>EF : M?5>-
FD>==O= // �4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 
https://e.lanbook.com/book/  

7.3 �>D<4F<6=O5 ?D46>6O5 4>FO 
1. ��%& $ 52055-2003  �5><=D>D<4F<>==>5 >4DF>7D4D<D>64=<5. �D>EFD4=EF65==O5 <>-

45?< <5EF=>EF<. �5M<5 FD55>64=<O 

2. ��%& $ 52155-2003 �5>7D4D<G5E><5 <=D>D<4F<>==O5 E<EF5<O  
D545D4?L=O5, D57<>=4?L=O5, <G=<F<?4?L=O5 

3. ��%& $ 52438-2005 �5>7D4D<G5E><5 <=D>D<4F<>==O5 E<EF5<O. &5D<<=O < >?D545?5-
=<O 

4. ��%& $ 52571-2006. �5>7D4D<G5E><5 <=D>D<4F<>==O5 E<EF5<O. %>6<5EF<<>EFL ?D>-
EFD4=EF65==OE 44==OE. �5M<5 FD55>64=<O 

5. ��%& $ 52572-2006 �5>7D4D<G5E><5 <=D>D<4F<>==O5 E<EF5<O. �>>D4<=4F=4O >E-
=>64. �5M<5 FD55>64=<O 

6. ��%& $ 52573-2006. �5>7D4D<G5E>4O <=D>D<4F<O. �5F444==O5 

7. ��%& $ 52293-2004 �5><=D>D<4F<>==>5 >4DF>7D4D<D>64=<5. %<EF5<4 M?5>FD>==OE 
>4DF. �4DFO M?5>FD>==O5 F>?>7D4D<G5E><5. �5M<5 FD55>64=<O 

8. ��%& $ 53339-2009 �4==O5 ?D>EFD4=EF65==O5 547>6O5. �5M<5 FD55>64=<O 

9. ��%& $ 52439- 2005 �>45?< <5EF=>EF<. &<DD>6O5 >4F4?>7 >5N5>F>6 <5EF=>EF< 

10. ��%& $ �%� 19113-
2003 

�5>7D4D<G5E>4O <=D>D<4F<O. �D<=F<?O >F5=>< >4G5EF64 

11. ��%& $ �%� 19105-
2003 

�5>7D4D<G5E>4O <=D>D<4F<O, %>>F65FEF6<5 < F5EF<D>64=<5 

12. ��%& $ 50828-95 �5><=D>D<4F<>==>5 >4DF>7D4D<D>64=<5. �D>EFD4=EF65==O5 44=-
=O5, F<DD>6O5 < M?5>FD>==O5 >4DFO. �5M<5 FD55>64=<O. 

13. ��%& $ 51605-2000 �4DFO F<DD>6O5 F>?>7D4D<G5E><5. �5M<5 FD55>64=<O. 

14. ��%& $ 51606-2000 �4DFO F<DD>6O5 F>?>7D4D<G5E><5.%<EF5<4 >?4EE<D<>4F<< < >>-
4<D>64=<O F<DD>6>= >4DF>7D4D<G5E>>= <=D>D<4F<<.�5M<5 FD5-
5>64=<O. 

15. ��%& $ 51607-2000 �4DFO F<DD>6O5 F>?>7D4D<G5E><5. �D46<?4 F<DD>6>7> >?<E4=<O 
>4DF>7D4D<G5E>>= <=D>D<4F<<. �5M<5 FD55>64=<O. 

16. ��%& $ 51608-2000 �4DFO F<DD>6O5 F>?>7D4D<G5E><5. &D55>64=<O > >4G5EF6G. 
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7.4 �5F>4<G5E><5 G>474=<O, D5>><5=44F<< < 4DG7<5 <4F5D<4?O > 
74=OF<O< 

1. �5=?<75D, �=4F>?<= �<E4=?>6<G. �$�������� �����$�$��&�-
���/% %�%&�� ��/ $�,���/ �$������/% ����' ����&�$���� 
� '�$������/: GG55=>5 ?>E>5<5 / �. �. �5=?<75D, �. %. �D<>?4564; $>EE<=-
E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F - �%%� <<5=< �. �. &<<<DO7564 
(�>E>64). 4 -?5>FD>=. F5>EF>6O5 44=. 4 �>E>64, 2018 4 154 E. 4 �>??5>F<O: 
'G55=4O < GG55=>-<5F>4<G5E>4O ?<F5D4FGD4. 4 $56<< 4>EFG?4 : 
http://elib.timacad.ru/dl/local/umo362.pdf. - �47?. E F<FG?. M>D4=4. - -?5>FD>=. 65D-
E<O ?5G. ?G5?<>4F<<. 4 URL:http://elib.timacad.ru/dl/local/umo362.pdf. 

7.5 �5D<>4<G5E><5 <744=<O 

1. �GD=4? «�5EF=<> �>E>>6E>>7> G=<65DE<F5F4. %5D<O 5. �5>7D4D<O. 
http://www.geogr.msu.ru/structure/vestnik 

2. �GD=4? «�765EF<O $��. %5D<O 75>7D4D<G5E>4O» 
http://izvestia.igras.ru/index.php?r=170 

3. �GD=4? «�5><=D>D<4F<>4 /Geoinformatika» http://www.geosys.ru/index.php/zhurnal-
geoinformatika 

4. �GD=4? «�5><4F<>4» http://old.geomatica.ru/rus/archive.html 
5. �GD=4? «�5>?D>D<» http://www.geoprofi.ru 
6. �GD=4? «�5<?O <7 >>E<>E4» http://www.zikj.ru/index.php/ru/about 
7. �=D>D<4F<>==O= 5N??5F5=L ��%-4EE>F<4F<< http://gisa.ru/ib.html 
8. �GD=4? «%��$ < ��% 46F><>5<?L=OE 4>D>7» http://cadgis.ru/archive 
9. Journal of Geographic Information System http://www.scirp.org/journal/jgis 
10. �475F4 ArcReview https://www.dataplus.ru/news/arcreview 
11. �GD=4? «'?D46?5=<5 D476<F<5< F5DD<F>D<<» http://gisa.ru/urt.html 
12. �GD=4? «Remote Sensing of Environment» https://www.journals.elsevier.com/remote-

sensing-of-environment 
13. Journal of Photogrammetry and Remote Sensing https://www.journals.elsevier.com/is-

prs-journal-of-photogrammetry-and-remote-sensing 
14. �GD=4? «International Journal of Applied Earth Observation and Geoinformation» 

https://www.journals.elsevier.com/international-journal-of-applied-earth-observation-
and-geoinformation 

15. �GD=4? «�5EF=<> >5D47>64=<O» http://www.vestnikedu.ru 
16. -?5>FD>==O= D5EGDE «�5447>7<G5E>4O ?5D<>4<>4» http://periodika.websib.ru/ 

8. ��$�'��, $�%'$%�� ��$�$��&�����-
&�������'����&������ %�&� «��&�$��&», ����%����/% 

��/ �%�����/ ��%&�����/ 

�>7<>65= >?5D4F<6=O= >5<5= <=D>D<4F<5= E >F5G5EF65==O<< < 74DG556-
=O<< 6G74<<, ?D54?D<OF<O<< < >D74=<74F<O<<:  

1. �<E 4EE>F<4F<O: [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4: 
http://www.gisa.ru. (E6>5>4=O= 4>EFG?) 

2. �=65=5D=>-F5E=>?>7<G5E><= F5=FD %>4=5>E: [-?5>FD>==O= D5EGDE]. 3 
$56<< 4>EFG?4: http://www.scanex.ru/ru/software/index.html. (E6>5>4=O= 4>EFG?) 
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3. �4F<>=4?L=>5 G?D46?5=<5 ?> <EE?54>64=<N >>54=>6 < 4F<>ED5DO 
(%,�) : [-?5>FD>==O= D5EGDE]. 3 $56<< 4>EFG?4: http://www.noaa.gov. (E6>5>4-
=O= 4>EFG?) 

4. C>>5M5EF6> E?5F<4?<EF>6 6 >5?4EF< ��% < ��� GISLab: : [-?5>FD>==O= 
D5EGDE]. 3 $56<< 4>EFG?4: http://gis-lab.info/, http://gis-lab.info/qa/gentle-intro-
gis.html. (E6>5>4=O= 4>EFG?) 

5. �<EFD<5LNF5D ?D>7D4<<=>7> >55E?5G5=<O 4?O ��% < �� �4F4+: [-?5>-
FD>==O= D5EGDE]. 3 $56<< 4>EFG?4: http://www.dataplus.ru/. (E6>5>4=O= 4>EFG?) 

6. �5>?>7<G5E>4O E?G654 %,�, 44==O5 E?GF=<>4 Landsat +: [-?5>FD>==O= 
D5EGDE]. 3 $56<< 4>EFG?4: http://landsat.usgs.gov/. (E6>5>4=O= 4>EFG?) 

7. �4F<>=4?L=O= >><<F5F ?> 4MD>=46F<>5 < <EE?54>64=<N >>E<<G5E>>7> 
?D>EFD4=EF64, ��%� (%,�), 44==O5 SRTM +: [-?5>FD>==O= D5EGDE]. 3 $56<< 
4>EFG?4: http://www2.jpl.nasa.gov/srtm/. (E6>5>4=O= 4>EFG?) 

8. �=EF<FGF >>E<<G5E><E <EE?54>64=<= ��� : [-?5>FD>==O= D5EGDE]. 3 $5-
6<< 4>EFG?4: http://www.iki.rssi.ru/. (E6>5>4=O= 4>EFG?) 

9. ��$�'��, �$��$������� ���%��'���/ � 
��$�$��&����/% %�$���'�/% %�%&�� 

&45?<F4 8 
�5D5G5=L ?D>7D4<<=>7> >55E?5G5=<O 

7 
?/? 

�4<<5=>64=<5  
D4745?4 GG55=>=  

4<EF<??<=O (<>4G?O) 

�4<<5=>64-
=<5 ?D>-
7D4<<O 

&<?  
?D>7D4<<O 

�6F>D 
�>4  

D47D4-
5>F>< 

2 �5><=D>D<4F<>==O5 E<EF5<O QGIS 3.16 D4EG5F=4O ESRI 2021 
 �5><=D>D<4F<>==O5 E<EF5<O SAGA-GIS 8 D4EG5F=4O SAGA 2021 

 

�5D5G5=L =5>5E>4<<OE <=D>D<4F<>==OE E?D46>G=OE E<EF5<  
�4==O= D4745? 74?>?=O5FEO 6 E>>F65FEF6<< E FD55>64=<O<< E>>F65FEF6GN-

M<E D4745?>6 $��% ��.  
�=D>D<4F<>==>-?D46>64O E<EF5<4 «�>=EG?LF4=F �?NE» [-?5>FD>==O= D5EGDE] 3 $5-6<< 4>-
EFG?4: http://consultant.ru 
-?5>FD>==>-5<5?<>F5G=4O E<EF5<4 «�>=EG?LF4=F EFG45=F4» (www.studmedlib.ru) 

http://www.biblio-online.ru -�% «.D4=F»  
www.biblioclub.ru -�% «'=<65DE<F5FE>4O 5<5?<>F5>4 >=?4==» 
http://e.lanbook.com -�% �744F5?LEF64 «�4=L» 
�4<=>5 >>=> 4>EFG?4 > >5D47>64F5?L=O< D5EGDE4<. -?5>FD>==4O 5<5?<>F5>4. [-?5>-
FD>==O= D5EGDE]. URL: http://window.edu.ru 
-?5>FD>==4O 5<5?<>F5G=4O E<EF5<4 eLIBRARY.RU (http://www.elibrary.ru) 
URL: https://maps.google.com/ �4DF>7D4D<G5E><= E5D6<E 
URL: http://www.geodata.gov/ �5>?>DF4? «Geospatial One-Stop». 
URL: http://multimap.com/map/ �4DF>7D4D<G5E><= E5D6<E 
URL: http://www.mirkart.ru/ $>EE<=E><= >4DF>7D4D<G5E><= E5D6<E 
URL: http://www.eatlas.ru/ $>EE<=E><= >4DF>7D4D<G5E><= E5D6<E 
URL: http://maps.yandex.ru/ $>EE<=E><= >4DF>7D4D<G5E><= E5D6<E 
URL: http://maps.rambler.ru/ $>EE<=E><= >4DF>7D4D<G5E><= E5D6<E 
URL: http://worldwind.arc.nasa.gov/java/ �=F5D4>F<6=4O >4DF4 <7 >>E<<G5E><E E=<<>>6 
URL: http://kosmosnimki.ru/ �>74<>4 E?GF=<>>6OE E=<<>>6 
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URL: http://www.fgdc.gov/ %4=F $545D4?L=>7> >><<F5F4 ?> 75>7D4D<G5E><< 44==O<. %>45D6<F 
4>>G<5=F4F<N > EF4=44DF4E < <5F444==OE. 
URL: http://nationalatlas.gov/ �4F<>=4?L=O= 4F?4E %,�. 
URL: http://www.iscgm.org/ �564G=4D>4=O= >><<F5F ?> 7?>54?L=><G >4DF>7D4D<D>-64=<N IS-
CGM 
URL: http://www.opengeospatial.org/ �>=E>DF<G< Open Geospatial Consortium, Inc. 
URL: http://www.ec-gis.org/ Europian Commission GI & GIS Webportal 
http://www.openstreetmap.org/ %6>5>4=> D4E?D>EFD4=O5<O5 >4DFO 
USGS Global Change Research (USA) [-?5>FD>==O= D5EGDE]. URL: http://geochange.er.usgs.gov 
�4<=>5 >>=> 4>EFG?4 > >5D47>64F5?L=O< D5EGDE4<. -?5>FD>==4O 5<5?<>F5>4. [-?5>-FD>==O= D5-
EGDE]. URL: http://window.edu.ru 
�=D>D<4F<>==4O 5474 44==OE $545D4?L=>= E?G65O 7>EG44DEF65==>= EF4F<EF<>< $$ [-?5>FD>=-
=O= D5EGDE]. URL: http://www.gks.ru 
%4=F �=EF<FGF4 <<D>6OE D5EGDE>6 [-?5>FD>==O= D5EGDE]. URL: http://earthtrends.wri.org 
$545D4?L=>5 475=FEF6> >444EFD4 >5N5>F>6 =546<6<<>EF< [-?5>FD>==O= D5EGDE]. URL: 
http://www.goscomzem.ru 
URL: http://www.geofaq.ru/forum/ $>DG< ?> ��%-F5E=>?>7<O< 
URL: http://www.gisa.ru/ �>DF4? ��%-�EE>F<4F<<, $>EE<O 
URL: http://earthexplorer.usgs.gov/ �F>DOFO= 4DE<6 E?GF=<>>6OE E=<<>>6 �<5D<>4=E>>= D4765-
4O64F5?L=>= <<EE<< =44 F5DD<F>D<5= %%%$ 
URL: http://www.sovzond.ru/ %4=F >><?4=<< «%������», $>EE<O 
URL: http://gis-lab.info/ �5746<E<<O= <=D>D<4F<>==O= D5EGDE, ?>E6OM5==O= ��% < ���� 

10. ���%���� ��&�$���,��-&�%��'�%��� ���/, 
����%������ ��/ �%'-�%&�����/ ��$�����&��,���� 

�$�&�%%� �� ��%&������ 

&45?<F4 9 

%6545=<O >5 >55E?5G5==>EF< E?5F<4?<7<D>64==O<< 4G4<F>D<O<<, >4-
5<=5F4<<, ?45>D4F>D<O<<  

�4<<5=>64=<5 E?5F<4?L=OE* ?><5-
M5=<= < ?><5M5=<= 4?O E4<>EF>O-
F5?L=>= D45>FO (7 GG55=>7> >>D-

?GE4, 7 4G4<F>D<<) 

�E=4M5==>EFL E?5F<4?L=OE ?><5M5=<= < ?>-
<5M5=<= 4?O E4<>EF>OF5?L=>= D45>FO** 

1 2 
'G55=4O ?45>D4F>D<O (728 GG55=O= >>D?GE, 
4G4.7 114) 

 

1. �><?LNF5D 6 E5>D5 (�=6.7210124000602036) 
2. �><?LNF5D 6 E5>D5 (�=6.7210124000602037) 
3. �><?LNF5D 6 E5>D5 (�=6.7210134000001203) 
4. �><?LNF5D 6 E5>D5 (�=6.7210134000001204) 
5. �$' HP LaserJetPro M1212 nf MFP 

(�=6.7210134000000839) 
6. �?>FF5D (�=6.7210134000001277) 
7. �D<=F5D HP 1022 (�=6.7210134000001205) 
8. %>4=5D HP 3500C (�=6.7210134000001068) 
9. �><?LNF5D HP Compad 6300 Pro21.5// 

(�=6.7210134000000958) 
10. �>=>5?>> Asus (�=6.7210134000001358) 
11. �D<=F5D Canon (�=6.7210134000001357) 

'G55=4O 4G4<F>D<O 4?O ?D>6545=<O 74=OF<= E5-
<<=4DE>>7> F<?4 (728 GG. >>D?GE, 4G4. 7116) 

1. �4DFO 16 LF. 
2. �>EFG? 6 <=F5D=5F 

�<5?<>F5>4, G<F4?L=O= 74? �<5?<>F5>4 &%%�, >><?LNF5D=O= 74? 
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11. ��&���'�%��� $��������&�� %&'���&�� �� 
�%�����. ��%&�����/ 

�5M<5 G>474=<O. 
�?NG56>= 7444G5= O6?O5FEO D476<F<5 =46O>>6 E4<>EF>OF5?L=>7> <7?>65-

=<O EFG45=F4<< E6><E G<>74>?NG5=<= ?> >DG7G <7GG45<OE 6 GG55=>< >GDE5 6>-
?D>E>6. � ?D>F5EE5 ?>47>F>6>< < ?D>6545=<O ?D4>F<G5E><E 74=OF<= EFG45=FO 74-
>D5??ONF ?>?GG5==O5 D4=55 F5>D5F<G5E><5 7=4=<O, ?D<>5D5F4NF =46O>< <E 
?D4>F<G5E>>7> ?D<<5=5=<O, >?OF D4F<>=4?L=>= >D74=<74F<< GG55=>= D45>FO, 
7>F>6OFEO > E44G5 74G5F4 < M>74<5=4. 

�>E>>?L>G 4>F<6=>EFL EFG45=F4 =4 ?D4>F<G5E><E 74=OF<OE O6?O5FEO ?D54-
<5F>< F5>GM57> >>=FD>?O 57> ?D>46<65=<O 6 >E6>5=<< >GDE4, ?>47>F>6>4 > F4><< 
74=OF<O< FD55G5F >F EFG45=F4 >F65FEF65==>7> >F=>L5=<O. �464><G EFG45=FG 
?D54>EF46?O5FEO D45>G55 ?D>EFD4=EF6> =4 E5D65D5 < M?5>FD>==O5 <4F5D<4?O 4?O 
6O?>?=5=<O 7444=<=. �4G5EF6> 6O?>?=5=<O ?D4>F<G5E><E 7444=<= >F5=<645FEO 
?D5?>4464F5?5< =4DO4G E 4DG7<<< D>D<4<< >>=FD>?O. �D< ?>47>F>6>5 > 74=O-
F<O< EFG45=FO 6 ?5D6GN >G5D54L 4>?6=O <E?>?L7>64FL <4F5D<4? ?5>F<= < E>>F-
65FEF6GNM<E <=D>D<4F<>==OE D5EGDE>6. 

�D< ?>47>F>6>5 ?D575=F4F<= 4>?6=O 5OFL ?D5464D<F5?L=> GF>G=5=O: 
??4= D45>FO < <=D>D<4F<>==O5 <EF>G=<><; ?D54EF46?5=O E?<E>> <E?>?L7>64=-
=OE <EF>G=<>>6. �?O ?>47>F>6>< ?D575=F4F<= 4>?6=O <E?>?L7>64FLEO F>?L>> 
E?5F<4?L=O5 <EF>G=<><. �D><5 F6>DG5E><E D45>F, F5<4F<>4 >>F>DOE E6O74=4 E 
4<=4<<>>= D476<F<O ��%-F5E=>?>7<= 74 ?>E?54=<5 7>4O, ?<5> <EF>D<G5E>>7> 
D476<F<O =4GG=OE 677?O4>6 =4 >4>GN-?<5> ?D>5?5<G, D5>><5=4>64=> <E?>?L7>-
64FL <EF>G=<>< 74 ?5D<>4 =5 5>?55 10 ?5F.  

� =4G4?5 >464>7> 74=OF<O EFG45=FO ?>?GG4NF E6>4=GN <=D>D<4F<N > 
??4=5, D>D<4E 57> ?D>6545=<O < D>D<4E >>=FD>?O 7=4=<=. �D< =5>5E>4<<>EF< 
EFG45=F4< ?D54>EF46?ONFEO <4F5D<4?O 4?O 6O?>?=5=<O ?D4>F<G5E><E D45>F, 
E?<E>> F5< ?5>F<>==OE < ?D4>F<G5E><E 7444=<=, 4 F4>65 F5<4F<>4 F6>DG5E><E 
D45>F (?D575=F4F<=). %4<>>>=FD>?L >4G5EF64 ?>47>F>6>< > >464><G 74=OF<N EFG-
45=FO >EGM5EF6?ONF, ?D>65DOO E6>< 7=4=<O < >F65G4O =4 6>?D>EO 4?O E4<>?D>-
65D>< ?> E>>F65FEF6GNM5= F5<5.  
&<?>6>= ??4= ?D4>F<G5E><E 74=OF<=:  
- �7?>65=<5 ?D5?>4464F5?5< F5<O 74=OF<O, 57> F5?5= < 7444G. 'EF=O= >?D>E 
?D>=45==>7> <4F5D<4?4.  
- �O44G4 <4F5D<4?>6 > ?D4>F<G5E>>= D45>F5, =5>5E>4<<O5 ?>OE=5=<O.  
- �O?>?=5=<5 7444=<O EFG45=F4<< ?>4 =45?N45=<5< ?D5?>4464F5?O.  
- 'EF=O= >?D>E.  
- �5EG645=<5 D57G?LF4F>6 (4<E>GEE<O). $57N<5 ?D5?>4464F5?O.  
- �5M55 ?>46545=<5 <F>7>6 74=OF<O ?D5?>4464F5?5< < 6O44G4 4><4L=57> 7444-
=<O.  

�E>4=>= >>=FD>?L >EGM5EF6?O5FEO ?D5?>4464F5?5< 6 6<45 ?D>65D>< < 4>-
FG4?<74F<< 7=4=<= (GEF=O= >?D>E) EFG45=F>6 ?> E>>F65FEF6GNM5= F5<5. �OE>4-
=>= >>=FD>?L >EGM5EF6?O5FEO ?D5?>4464F5?5< ?D>65D>>= >4G5EF64 < ?>?=>FO 6O-
?>?=5=<O ?D4>F<G5E>>= D45>FO, 6 E>45 4<E>GEE<< 3 >5EG645=<O ?D4>F<G5E>>= 
D45>FO <?< ?5>F<<. �D54GE<>FD5=O D>D<O F5>GM57> >>=FD>?O 3 & 3 F6>DG5E>4O 
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D45>F4, ?D575=F4F<O 6 D>D<4F5 .pptx; $ 3 =4?<E4=<5 D5D5D4F4; ' 3 GEF=O= >?D>E; 
� 3 4<E>GEE<O, �$ 3 6O?>?=5=<5 ?D4>F<G5E>>= D45>FO (D4EG5F=>-7D4D<G5E>>7> 
7444=<O) 

11.1. �<4O < D>D<O >FD45>F>< ?D>?GM5==OE 74=OF<=  
(F5>GM57> >>=FD>?O 7=4=<=) 

�D< <7GG5=<< >464>7> D4745?4 4<EF<??<=O ?D>6>4<FEO F5>GM<= >>=FD>?L 
7=4=<= E F5?LN ?D>65D>< < >>DD5>F<< E>44 >E6>5=<O F5>D5F<G5E>>7> <4F5D<4?4 
< ?D4>F<G5E><E G<5=<=, < =46O>>6. &5>GM<= >>=FD>?L 7=4=<= ?D>6>4<FEO ?> 
7D4D<>G 6 G4EO ?D4>F<G5E><E 74=OF<= ?> >E=>6=><G D4E?<E4=<N. 

�E?< 6O =5 ?D>L?< F5>GM<= >>=FD>?L 7=4=<=, 6O ?D>4>?645F5 GG<FLEO < 
<<55F5 ?D46> E4464FL E?54GNM<= D4745? ?> MF>= 4<EF<??<=5.  

� E?GG45 ?D>?GE>4 F5>GM57> >>=FD>?O 7=4=<= (?D4>F<G5E>>7> 74=OF<O) ?> 
G646<F5?L=>= ?D<G<=5 6O 4>?GE>45F5EL > 57> ?D>E>645=<N (?<>6<44F<< 744>?-
65==>EF<) ?> E>7?4E>64=<N E ?D5?>4464F5?5< < ?D< ?D54>EF46?5=<< 6 45>4=4F 
>?D4644F5?L=>7> 4>>G<5=F4 4?O ?>?GG5=<O 4>?GE>4.  

�D< ?D>?GE>5 F5>GM57> >>=FD>?O 7=4=<= 557 G646<F5?L=>= ?D<G<=O 6O 
4>?GE>45F5EL > E5EE<< F>?L>> ?>E?5 ?<>6<44F<< 744>?65==>EF<. �D4D<>< ?5D5-
E44G E>EF46?ONFEO =4 >4D54D4E.  

11.2 $5>><5=44F<< EFG45=FG ?> >D74=<74F<< E4<>EF>OF5?L=>=  
GG55=>= D45>FO 

�654=56=> G<F4=F5. '<F4=F5 >464O= 45=L =5E>>?L>> (4-6) EFD4=<F =4GG-
=>= ?<F5D4FGDO, 6 F>= <?< <=>= <5D5, E6O74==>= E GG55=O<< 4<EF<??<=4<<. 
�D><5 F>7>, G<F4=F5 6=<<4F5?L=> < 64G<G<6> 5654=56=> 10-15 EFD4=<F =4GG=>= 
< =4GG=>-?>?G?OD=>= ?<F5D4FGDO. �EU, GF> 6O G<F45F5, 3 MF> <=F5??5>FG4?L=O= 
D>= 64L57> GG5=<O. '5< 5>74G5 MF>F D>=, F5< ?57G5 GG<FLEO. '5< 5>?LL5 G<F45LL 
5654=56=>, F5< 5>?LL5 5G45F D575D6 6D5<5=<. �5 >F>?44O64=F5 MFG D45>FG =4 
746FD4. &>, GF> G?GM5=> E57>4=O, =<>>744 =5 6>7<5EF<LL 746FD4. 

'G<F5EL >5?57G4FL E6>= G<EF65==O= FDG4 6 5G4GM5<. �?O MF>7> =44> ?D<-
6O>=GFL > E<EF5<5 74?<E=OE >=<65>. �4644O <>65F 5OFL ?D54=47=4G5=4 4?O 74-
?<E< OD><E, E>FO 5O <<<>?5F=OE <OE?5= (>>F>DO5 <<5NF «?D<6OG>G» ?D<E>-
4<FL 6 7>?>6G D47 < 5>?LL5 =5 6>76D4M4FLEO) ?> >4=>= <7 ?D>5?5<, =44 >>F>DO<< 
FO 4G<45LL. 

�?O >464>= D45>FO <M<F5 =4<5>?55 D4F<>=4?L=O5 ?D<U<O G<EF65==>7> 
FDG44. �75574= FD4D4D5F4 < L45?>=4. �5 64?5= 6D5<5=< =4 F>, GF>5O 7?G5>>> 
>E<OE?<FL EGM=>EFL D4>F>6, O6?5=<=, 74>>=><5D=>EF5=, E >>F>DO<< 6O <<55F5 
45?>. '5< 7?G565 6O 64G<4?<EL, F5< ?D>G=55 >F?56<FEO 6 ?4<OF<. �> F5E ?>D, 
?>>4 =5 >E<OE?5=>, =5 EF4D4=F5EL 74?><=<FL 3 MF> 5G45F =4?D4E=4O FD4F4 6D5-
<5=<.  

«�46FD4» 3 E4<O= >?4E=O= 6D47 FDG4>?N5<O. �<>>744 =5 >F>?44O64=F5 >4-
>GN-F> G4EFL D45>FO, >>F>DGN =44> 6O?>?=<FL E57>4=O, =4 746FD4. 

�5 ?D5>D4M4=F5 G<EF65==>7> FDG44 =<>>744, =< =4 >4<= 45=L. �> 6D5<O 
>4=<>G? =5 D4EEF464=F5EL E >=<7>=. �464O= 45=L 4>?65= >5>74M4FL 64E <=F5?-
?5>FG4?L=O<< F5==>EFO<<. 
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12. ��&���'�%��� $��������&�� �$�������&��/� �� 
�$������&�� ��''���/ �� ��%&������ 

� GE?>6<OE E>6D5<5==>7> >5M5EF64 6E5 5>?55 646=O< EF4=>6<FEO D>D<<-
D>64=<5 6>E?D<OF<O F5?>EF=>=, E<EF5<=>= >4DF<=O <=D>D<4F<>==OE ?D>F5EE>6 
6 >5M5EF65, ?D<D>45 < ?>7=4=<<, GE<?5=<5 <56?D54<5F=OE E6O75=. �=D>D<4F<-
>==O5 F5E=>?>7<< 6 E>6D5<5==OE GE?>6<OE O6?ONFEO O4D>< <=D>D<4F<74F<< >5-
D47>64=<O < 646=O< 765=>< ?D>D<?L=>= ?>47>F>6><.  

�5><=D>D<4F<>==O5 E<EF5<O (��%) ?>?GG<?< E57>4=O 6 <<D5 E4<>5 L<-
D>>>5 ?D<<5=5=<5. ��% 4>F<6=> <E?>?L7GNFEO 4?O D5L5=<O =4GG=OE < ?D4>F<-
G5E><E 7444G, 6>?NG4O ??4=<D>64=<5 =4 7>D>4E>><, D57<>=4?L=>< < D545D4?L=>< 
GD>6=OE, >><??5>E=>5 <=>7>4E?5>F=>5 <7GG5=<5 ?D<D>4=>-M>>=><<G5E>>7> ?>-
F5=F<4?4 6 ?D545?4E >DG?=OE D57<>=>6, <=65=F4D<74F<N ?D<D>4=OE D5EGDE>6, 
?D>5>F<D>64=<5 FD4=E?>DF=OE <47<EFD4?5= < =5DF5?D>6>4>6, >55E?5G5=<5 557-
>?4E=>EF< G5?>65>4 < F.4. 

&5>D5F<G5E>>5 < ?D4>F<G5E>>5 >6?445=<5 ��%-F5E=>?>7<O<<, <5F>44<< 
E>744=<O < <E?>?L7>64=<O ��%, 75><=D>D<4F<>==O< <5F>4>< 75>7D4D<G5E><E 
<EE?54>64=<= < >4DF>7D4D<D>64=<O EF4?> =5>5E>4<<>= E>EF46?ONM5= 
DG=44<5=F4?L=>= ?>47>F>6>< E>6D5<5==OE E?5F<4?<EF>6. 

�7GG5=<5 4<EF<??<=O «�5><=D>D<4F<>==O5 E<EF5<O» >E=>64=> =4 
E>6D5<5==OE ?D<=F<?4E >D74=<74F<< ?45>D4F>D=OE < E4<>EF>OF5?L=OE 74=OF<=, 
674<<>E6O74==OE 6 GG55=>< ?D>F5EE5, >E=>64==OE =4 74>D5??5=<< =>6OE 7=4=<= 
74 EG5F 6OD45>F>< =46O>>6 ?>?GG5=<O, 66>44, >5D45>F><, >F>5D465=<O < 4=4?<74 
?D>EFD4=EF65==OE 44==OE 6 ?D>F5EE5 6O?>?=5=<O ?45>D4F>D=OE < 
E4<>EF>OF5?L=OE D45>F E <E?>?L7>64=<5< E?5F<4?<7<D>64==>7> ?D>7D4<<=>7> 
>55E?5G5=<O.  

$54?<74F<O F4>>7> 674<<>E6O74==>7> GG55=>7> ?D>F5EE4 4>?6=4 >?<D4FLEO 
=4 E5F56O5 <=D>D<4F<>==O5 F5E=>?>7<< (�=F5D=5F, <=FD4=5F) < 
E>>F65FEF6GNMGN <=DD4EFDG>FGDG <=D>D<4F<>==OE D5EGDE>6 (>><?LNF5D=O5 
>?4EEO 4?O ?45>D4F>D=OE D45>F < E4<>EF>OF5?L=>= D45>FO, E5D65DO E 
GEF4=>6?5==O< ?D>7D4<<=O< >55E?5G5=<5<, E5D65DO 44==OE < F.4.). 

%FG45=FO 4>?6=O >6?445FL: F5>D5F<G5E><<< ?D54EF46?5=<O<< > E6O7OE 
75><=D>D<4F<>< E >4DF>7D4D<5=, 4<EF4=F<>==O< 7>=4<D>64=<5<, <=D>D<4F<-
>>= < =4G>4<< > �5<?5, 55 D>?< >4> 4<EF<??<=O, <7GG4NM5= ?D<D>4=O5 < ?D<-
D>4=>->5M5EF65==O5 75>E<EF5<O, < ?D4>F<G5E><<< <5F>44<< < F5E=>?>7<O<< 
E5>D4, ED4=5=<O, >5D45>F><, 4=4?<74, <>45?<D>64=<O, ?D54EF46?5=<O D57G?LF4F>6 
6 ��%. �D4>F<G5E><5 D45>FO 6O?>?=ONFEO E ?D<<5=5=<5< ?<F5=7<>==>7> ?D>-
7D4<<=>7> ��%-?4>5F4 QGIS 3.16 (SAGA-GIS 8). 

�?O >55E?5G5=<O ?D4>F<G5E><E D45>F ?> >GDEG D47D45>F4= >><?LNF5D=O= 
��%-?D4>F<>G< - =45>D F<?>6OE 7444G < D5>><5=4G5<OE ��%-F5E=>?>7<= 4?O 
<E D5L5=<O.  

�>=F5?F<O <7GG5=<O 75><=D>D<4F<>==OE E<EF5< < F5E=>?>7<= ?>4D47G-
<5645F: 
ü E<EF5<=O= ?>4E>4; 
ü ?D<=F<? E>G5F4=<O F5>D<< < ?D4>F<><, 
ü ?D<=F<? <>F<64F<< GG5=<O < FDG44; 
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ü ?D<=F<? ?D>5?5<=>EF<, <=4<6<4G4?<74F<< < <=F57D4F<< ?D>F5EE4 >5GG5-
=<O. 
�GDE 7465DL45FEO 74G5F><. �5O74F5?L=O< GE?>6<5< 4>?GE>4 EFG45=F4 > 

74G5FG O6?O5FEO 6O?>?=5=<5 6E5E ?45>D4F>D=OE D45>F =4 ��, ?D54>EF46?5=<5 
>FG5F4 ?> ?45>D4F>D=O< D45>F4< < 6O?>?=5=<5 F5EF>6>7> 7444=<O. �4GF5=> 3 
FD55>64=<O E6>4OFEO > E?54GNM5<G: 7=4=<5 F5>D5F<G5E>>7> >GDE4 4<EF<??<=O < 
>6?445=<5 ?D4>F<G5E><<< =46O>4<< ?D< D45>F5 E ?4>5F>< ?D<>?44=OE ?D>7D4<< 
=4 ��. 

� E>45 ?D5?>4464=<O >GDE4 D5>><5=4G5FEO <E?>?L7>64FL <5F>4O >5GG5=<O 
< D>D<O E4<>EF>OF5?L=>= D45>FO EFG45=F>6, GG<FO64NM<5 >E>55==>EF< 44=-
=>7> GG55=>7> >GDE4. � =<< =5>5E>4<<> >F=5EF< >><??5>E=>EFL, ?D4>F<G5E>GN 
=4?D46?5==>EFL < F5E=>?>7<G=>EFL.  

�5>5E>4<<> 44FL 6>7<>6=>EFL EFG45=F4< 5>?LL5= ?D4>F<G5E>>= E4<>EF>-
OF5?L=>EF< ?D< 6O?>?=5=<< D45>F. 

�4>5F 7444=<= 4?O E4<>EF>OF5?L=>= D45>FO E?54G5F 6O4464FL 6 =4G4?5 E5-
<5EFD4, >?D545?<6 ?D545?L=O5 ED>>< <E 6O?>?=5=<O < E44G<. �D74=<7GO E4<>-
EF>OF5?L=GN D45>FG, =5>5E>4<<> E=4G4?4 ?>>474FL >5M<= 4?7>D<F< 6O?>?=5=<O 
D45>FO < F>?L>> ?>E?5 MF>7> FD55>64FL >F EFG45=F>6 57> 6O?>?=5=<O.  

%?54G5F >5D4F<FL 6=<<4=<5 =4 D476<F<5 G EFG45=F>6 =46O>>6 E4<>EF>O-
F5?L=>= <EE?54>64F5?LE>>= D45>FO, F.5. ?><E>4 < ?>45>D4 =5>5E>4<<OE F5>D5F<-
G5E><E ?>?>65=<=, ?>76>?ONM<E D5L4FL ?D4>F<G5E><5 7444G<. �D< <7?>65=<< 
<4F5D<4?4 4464FL EEO?>< =5 F>?L>> =4 GG55=<>< < GG55=O5 ?>E>5<O, => < =4 =>D-
<4F<6=O5 4>>G<5=FO < E?D46>G=<><.  

$57G?LF4FO ?D4>F<G5E><E 74=OF<= 4>?6=O >D>D<?OFLEO >5GG4NM<<EO 6 
D>D<5 >FG5F4 (?>OE=<F5?L=>= 74?<E><), GF> ?>76>?<F ED>D<<D>64FL =46O>< ?D4-
6<?L=>7> 4>>G<5=F<D>64=<O E>44 < ?D54EF46?5=<O D57G?LF4F>6 6O?>?=5=<O D4-
5>FO. 

�4=OF<O 4>?6=O ?D>6>4<FLEO E GG5F>< E>6D5<5==OE <5F>4>6 >5GG5=<O. 
�5O74F5?L=> =4?<G<5 =47?O4=OE <4F5D<4?>6 < ?>E>5<= 6 6<45 ?D575=F4F<=, ?D>-
7D4<<->5GG4F5?5= < <=OE F5E=<G5E><E < ?D>7D4<<=OE D5EGDE>6. 

%?54G5F >5D4F<FL >E>5>5 6=<<4=<5 =4 D47=>EFL 6 6>E?D<OF<< <=D>D<4F<< 
EFG45=F4<<. �4>E<<4?L=> G65?<G<FL D47=>>5D47<5 ?D<<5D>6, G>47O64O =4 ?D>-
EFD4=EF65==O= < >><??5>E=O= E4D4>F5D D5L45<OE 7444G. �>EF>O==> >5D4M4FL 
6=<<4=<5 EFG45=F>6 =4 D47?<G=O5 D>D<O >FD465=<O ?D>EFD4=EF65==>= <=D>D-
<4F<<. 

$5>><5=4G5FEO ?D>6545=<5 >DG7?OE EF>?>6 E >5GG4NM<<<EO, GF> ?>76>?<F 
4>F<6<7<D>64FL 6=<<4=<5 ?GF5< ?>EF4=>6>< ?D>5?5<=OE 6>?D>E>6, ED>D<<D>-
64FL ?<G=GN ?>7<F<N >5GG4NM57>EO, G<5=<5 7D4<>F=> < G554<F5?L=> <7?474FL 
E6>N F>G>G 7D5=<O. 

�D>7D4<<G D47D45>F4?: 

 
�5D<<=>6 �.�., >.F.=., 4>F5=F  __________________________________ 

         «23» 467GEF4 20217. 
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$�&����/ 
=4 D45>GGN ?D>7D4<<G 4<EF<??<=O  

�1.�.12 �5><=D>D<4F<>==O5 E<EF5<O  
���� �� ?> =4?D46?5=<N 20.03.02 �D<D>4>>5GEFD>=EF6> < 6>4>?>?L7>64=<5,  

=4?D46?5==>EFL ->E?5DF<74 < G?D46?5=<5 75<5?L=O<< D5EGDE4<< 
 (>64?<D<>4F<O 6O?GE>=<>4 3 54>4?46D) 

 
�?L<=<G5< �<F4?<5< �<F4?L56<G5<, ?D>D5EE>D>< >4D54DO <5F5>D>?>7<< < >?<<4F>-

?>7<< $���' �� «$>EE<=E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F 3 �%%� <<5=< �.�. 
&<<<DO7564» 7. �>E>6O >4=4<44F>< F5E=<G5E><E =4G> (44?55 ?> F5>EFG D5F5=75=F), ?D>6545=4 
D5F5=7<O D45>G5= ?D>7D4<<O 4<EF<??<=O «�5><=D>D<4F<>==O5 E<EF5<O» ���� �� ?> 
=4?D46?5=<N 20.03.02 �D<D>4>>5GEFD>=EF6> < 6>4>?>?L7>64=<5, =4?D46?5==>EFL «->E?5DF<74 
< G?D46?5=<5 75<5?L=O<< D5EGDE4<<», 6 $���' �� «$>EE<=E><= 7>EG44DEF65==O= 47D4D=O= 
G=<65DE<F5F 3 �%%� <<5=< �.�. &<<<DO7564», =4 >4D54D5 7<4D>?>7<<, 7<4D>75>?>7<< < D5-
7G?<D>64=<O EF>>4 (D47D45>FG<> 3 �5D<<=>6 �?5>E5= �4E<?L56<G, 4>F5=F, >4=4<44F F5E=<G5-
E><E =4G>). 

$4EE<>FD56 ?D54EF46?5==O5 =4 D5F5=7<N <4F5D<4?O, D5F5=75=F ?D<L5? > E?54GNM<< 
6O6>44<: 

1. �D54NO6?5==4O D45>G4O ?D>7D4<<4 4<EF<??<=O «�5><=D>D<4F<>==O5 E<EF5<O» 
(44?55 ?> F5>EFG �D>7D4<<4) E>>F65FEF6G5F FD55>64=<O< $��% �� ?> =4?D46?5=<N 
20.03.02 �D<D>4>>5GEFD>=EF6> < 6>4>?>?L7>64=<5. �D>7D4<<4 E>45D6<F 6E5 >E=>6=O5 D47-
45?O, E>>F65FEF6G5F FD55>64=<O< > =>D<4F<6=>-<5F>4<G5E><< 4>>G<5=F4<.  

2. �D54EF46?5==4O 6 ?D>7D4<<5 4>FG4?L=>EFL GG55=>= 4<EF<??<=O 6 D4<>4E D54?<-
74F<< ���� �� =5 ?>4?56<F E><=5=<N 3 4<EF<??<=4 >F=>E<FEO > 547>6>= G4EF< GG55=>7> 
F<>?4 3 �1. 

3. �D54EF46?5==O5 6 �D>7D4<<5 F5?< 4<EF<??<=O E>>F65FEF6GNF FD55>64=<O< 
$��% =4?D46?5=<O 20.03.02 �D<D>4>>5GEFD>=EF6> < 6>4>?>?L7>64=<5. 

4. � E>>F65FEF6<< E �D>7D4<<>= 74 4<EF<??<=>= �5><=D>D<4F<>==O5 E<EF5<O 74>D5?-
?5=> 4 >><?5F5=F<=. �<EF<??<=4 �5><=D>D<4F<>==O5 E<EF5<O < ?D54EF46?5==4O �D>-
7D4<<4 E?>E>5=4 D54?<7>64FL <E 6 >5NO6?5==OE FD55>64=<OE. 

5. $57G?LF4FO >5GG5=<O, ?D54EF46?5==O5 6 �D>7D4<<5 6 >4F57>D<OE 7=4FL, G<5FL, 6?4-
45FL E>>F65FEF6GNF E?5F<D<>5 < E>45D64=<N 4<EF<??<=O < 45<>=EFD<DGNF 6>7<>6=>EFL 
?>?GG5=<O 74O6?5==OE D57G?LF4F>6. 

6. �5M4O FDG4>U<>>EFL 4<EF<??<=O «�5><=D>D<4F<>==O5 E<EF5<O» E>EF46?O5F 3 74-
GUF=O5 54<=<FO (108 G4E4). 

7.  �=D>D<4F<O > 674<<>E6O7< <7GG45<OE 4<EF<??<= < 6>?D>E4< <E>?NG5=<O 4G5?<-
D>64=<O 6 E>45D64=<< 4<EF<??<= E>>F65FEF6G5F 45=EF6<F5?L=>EF<. �<EF<??<=4 «�5><=-
D>D<4F<>==O5 E<EF5<O» 674<<>E6O74=4 E 4DG7<<< 4<EF<??<=4<< ���� �� < 'G55=>7> 
??4=4 ?> =4?D46?5=<N 20.03.02 �D<D>4>>5GEFD>=EF6> < 6>4>?>?L7>64=<5 < 6>7<>6=>EFL 4G5-
?<D>64=<O 6 E>45D64=<< >FEGFEF6G5F. �>E>>?L>G 4<EF<??<=4 =5 ?D54GE<4FD<645F =4?<G<5 
E?5F<4?L=OE FD55>64=<= > 6E>4=O< 7=4=<O<, G<5=<O< < >><?5F5=F<O< EFG45=F4, E>FO <>65F 
O6?OFLEO ?D54L5EF6GNM5= 4?O E?5F<4?L=OE, 6 F>< G<E?5 ?D>D5EE<>=4?L=OE 4<EF<??<=, <E-
?>?L7GNM<E 7=4=<O 6 >5?4EF< ?D<D>4>>5GEFD>=EF64 < 6>4>?>?L7>64=<O 6 ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< <47<EFD4 ?> 44==><G =4?D46?5=<N ?>47>F>6><. 

8. �D54EF46?5==4O �D>7D4<<4 ?D54?>?4745F <E?>?L7>64=<5 E>6D5<5==OE >5D47>64-
F5?L=OE F5E=>?>7<=, <E?>?L7G5<O5 ?D< D54?<74F<< D47?<G=OE 6<4>6 GG55=>= D45>FO. $>D<O 
>5D47>64F5?L=OE F5E=>?>7<= E>>F65FEF6GNF E?5F<D<>5 4<EF<??<=O. 

9. �D>7D4<<4 4<EF<??<=O «�5><=D>D<4F<>==O5 E<EF5<O» ?D54?>?4745F 4 74=OF<= 6 
<=F5D4>F<6=>= D>D<5. 

10. �<4O, E>45D64=<5 < FDG4>U<>>EFL E4<>EF>OF5?L=>= D45>FO EFG45=F>6, ?D54EF46-
?5==O5 6 �D>7D4<<5, E>>F65FEF6GNF FD55>64=<O< > ?>47>F>6>5 6O?GE>=<>>6, E>45D64-
M<<EO 6> $��% �� =4?D46?5=<O 20.03.02 �D<D>4>>5GEFD>=EF6> < 6>4>?>?L7>64=<5. 
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11. �D54EF46?5==O5 < >?<E4==O5 6 �D>7D4<<5 D>D<O F5>GM5= >F5=>< 7=4=<= (>?D>E, 
>4> 6 D>D<5 >5EG645=<O >F45?L=OE 6>?D>E>6, D45>F4 =44 D4EG5F=>-7D4D<G5E><< 7444=<5< (6 
?D>D5EE<>=4?L=>= >5?4EF<) < 4G4<F>D=OE 7444=<OE), E>>F65FEF6GNF E?5F<D<>5 4<EF<-
??<=O < FD55>64=<O< > 6O?GE>=<>4<. 

$>D<4 ?D><56GF>G=>7> >>=FD>?O 7=4=<= EFG45=F>6, ?D54GE<>FD5==4O �D>7D4<<>=, 
>EGM5EF6?O5FEO 6 D>D<5 M>74<5=4, GF> E>>F65FEF6G5F EF4FGEG 4<EF<??<=O, >4> 4<EF<??<=O 
64D<4F<6=>= G4EF< GG55=>7> F<>?4 3 � $��% =4?D46?5=<O 20.03.02 �D<D>4>>5GEFD>=EF6> < 
6>4>?>?L7>64=<5. 

12. $>D<O >F5=>< 7=4=<=, ?D54EF46?5==O5 6 �D>7D4<<5, E>>F65FEF6GNF E?5F<D<>5 
4<EF<??<=O < FD55>64=<O< > 6O?GE>=<>4<. 

13. 'G55=>-<5F>4<G5E>>5 >55E?5G5=<5 4<EF<??<=O ?D54EF46?5=>: >E=>6=>= ?<F5D4FG-
D>= 3 2 <EF>G=<>4<< (547>6O= GG55=<>), 4>?>?=<F5?L=>= ?<F5D4FGD>= 3 3 =4<<5=>64=<O<<, 
?5D<>4<G5E><<< <744=<O<< 3 2 <EF>G=<>4 E> EEO?>>= =4 M?5>FD>==O5 D5EGDEO, �=F5D=5F-D5-
EGDEO 3 11 <EF>G=<>>6 < E>>F65FEF6G5F FD55>64=<O< $��% =4?D46?5=<O 20.04.02 �D<D>4>-
>5GEFD>=EF6> < 6>4>?>?L7>64=<5. 

14. �4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5 4<EF<??<=O E>>F65FEF6G5F E?5F<D<>5 4<E-
F<??<=O «�5><=D>D<4F<>==O5 E<EF5<O» < >55E?5G<645F <E?>?L7>64=<5 E>6D5<5==OE >5D4-
7>64F5?L=OE, 6 F>< G<E?5 <=F5D4>F<6=OE <5F>4>6 >5GG5=<O. 

15. �5F>4<G5E><5 D5>><5=44F<< EFG45=F4< < <5F>4<G5E><5 D5>><5=44F<< ?D5?>4464-
F5?O< ?> >D74=<74F<< >5GG5=<O ?> 4<EF<??<=5 44NF ?D54EF46?5=<5 > E?5F<D<>5 >5GG5=<O ?> 
4<EF<??<=5 «�5><=D>D<4F<>==O5 E<EF5<O». 

��-�� �/���/ 

�4 >E=>64=<< ?D>6545==>= D5F5=7<< <>6=> E45?4FL 74>?NG5=<5, GF> E4D4>F5D, EFDG>-
FGD4 < E>45D64=<5 D45>G5= ?D>7D4<<O 4<EF<??<=O «�5><=D>D<4F<>==O5 E<EF5<O» ���� 
�� ?> =4?D46?5=<N 20.03.02 �D<D>4>>5GEFD>=EF6> < 6>4>?>?L7>64=<5, =4?D46?5==>EFL ->E-
?5DF<74 < G?D46?5=<5 75<5?L=O<< D5EGDE4<< (>64?<D<>4F<O 6O?GE>=<>4 3 54>4?46D), D47D4-
5>F4==4O �5D<<=>6O< �.�., 4>F5=F>< >4D54DO 7<4D>?>7<<, 7<4D>75>?>7<< < D57G?<D>64=<O 
EF>>4 $���' �� «$>EE<=E><= 7>EG44DEF65==O= 47D4D=O= G=<65DE<F5F - �%%� <<5=< �.�. 
&<<<DO7564», >4=4<44F>< F5E=<G5E><E =4G> E>>F65FEF6G5F FD55>64=<O< $��% ��, E>6D5<5=-
=O< FD55>64=<O< M>>=><<><, DO=>4 FDG44 < ?>76>?<F ?D< 5U D54?<74F<< GE?5L=> >55E?5G<FL 
D>D<<D>64=<5 74O6?5==OE >><?5F5=F<=. 

 
$5F5=75=F: ?D>D5EE>D �?L<=<G �<F4?<= �<F4?L56<G,  
?D>D5EE>D >4D54DO <5F5>D>?>7<< < >?<<4F>?>7<<  
$���' �� «$>EE<=E><= 47D4D=O= G=<65DE<F5F 3  
�%%� <<5=< �.�. &<<<DO7564»,  
>4=4<44F F5E=<G5E><E =4G>   ______________________________ 
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